
 
 

Theory No. -1

1. Line, Rays & Angles – 

(Point) →A circle which do not have radius 

is called point.  

fcUnq→ ,slk dksbZ òr ftldh dksbZ

gksrh fcUnw dgykrk gSA  

 

 

2. (Line)→Line is a set of infinite points 

should be in one dimension, which can 

extended on both the end points.

js[kk → js[kk vUur fcUnwvksa dk ,d fcUnwiFk gSaA 

ftlds nksuks fljks dks vUur rd c

ldrk gS A  

3. (Plane)→ Plane is a set of infinite points in 

two dimensions it does not have any width 

and it can extended infinitely. 

lery→ lery vUur % fcUnwvksa dk ,d 

fcUnwiFk gS ftldh dksbZ eksVkbZ 

vkSj bls vuUr rd c<k;k tkrk gSa A 

 

1 

A circle which do not have radius 

ftldh dksbZ f=T;k ugha 

is a set of infinite points that 

e in one dimension, which can be 

oth the end points. 

js[kk vUur fcUnwvksa dk ,d fcUnwiFk gSaA 

ftlds nksuks fljks dks vUur rd c<k;k tk 

 

Plane is a set of infinite points in 

two dimensions it does not have any width 

 

lery vUur % fcUnwvksa dk ,d 

 ugha gksrh gSaA 

;k tkrk gSa A  

 

4. (Angle) →Two non

have one common starting point is called 

angle.  

dks.k → nks vljs[kh; fdj.k ftudk ,d 

mHk;fu"B izkjfEHkd fcUnw gks dk

 Ray making an angle are called arms and 

that common point is called vertex. 

 nksuksa fdj.kksa 

mHk;fu"B fcUnw dks 'kh"kZ dgrs gSA

 

 

5. (Types of Angles)

(i). (Acute Angle)

measures less than 

angle’ 

U;wudks.k→ ,slk dks.k ftldh eki

U;wudks.k dgykrk gSaA 

 

 

 

 

 

 
 

 

Two non- colliner rays which 

have one common starting point is called 

nks vljs[kh; fdj.k ftudk ,d 

izkjfEHkd fcUnw gks dks.k gksrk gSA  

Ray making an angle are called arms and 

that common point is called vertex.  

nksuksa fdj.kksa dks dks.k dh Hkqtk;ksa rFkk 

fcUnw dks 'kh"kZ dgrs gSA 

PQ, PR → arms 

P→ Vertex 

(Types of Angles)→ dks.kks ds izdkj  

(Acute Angle)→ An angle that 

measures less than 90° is called ‘acute 

,slk dks.k ftldh eki 90° ls de gks 

U;wudks.k dgykrk gSaA  
 

 



 
0° < 𝜃 < 90° 

dks.k ∠𝐵𝐴𝐶  U;wudks.k gSaA 

 

(ii). (RightAngle)→ An Angle that 

measures 90° is called right angle.

ledks.k→ ,slk dks.k ftldh eki

ledks.k dgykrk gSaA  

 

 
 

(iii). (Obtuse Angle)→ An angle that 

measures more than 90°

180° is called obtuse angle. 

vf/kd dks.k→ ,slk dks.k ftldh eki

vf/kd gks ijUrq 180° ls de gks vf/kd dks.k 

gksxkA  

 

 

 

 

   

An Angle that 

is called right angle. 

,slk dks.k ftldh eki 90° gks 

 

An angle that 

°but less than 

tuse angle.  

tldh eki 90° ls 

ls de gks vf/kd dks.k 

 

(iv). (Straight Angle) 

measures 180°

_tq dks.k→ ,slk dks.k ftldh eki

ljy dks.k dgykrk gSaA

 

 

(v). (Reflex Angle)

measures more than 

360° is called “Reflex angle”

og̀r dks.k→ ,slk dks.k ftldh eki

vf/kd o 360°ls de gks] o

 180° < 𝜃 < 360

 

 

𝜃 = 

 

(Straight Angle) →   An angle that 

° is called straight angle.  

,slk dks.k ftldh eki 180° gks] 

ljy dks.k dgykrk gSaA 

𝜃 = 180° 

 

(Reflex Angle)→ An angle that 

measures more than 180°but  less than 

is called “Reflex angle” 

,slk dks.k ftldh eki 180° ls 

ls de gks] o`r dks.k dgykrk gSA 

360° 

 

 



 

(vi). (Complete Angle)→ An angle that 

measures 360° is called complete angle 

iw.kZ dks.k→ og dks.k ftldh eki

dks.k dgykrk gSA 

𝜃 = 360° 

 

6. Relation between angle ¼dks.kksa es lEcU/k½

(i). (Complementory Angle)

Angles whose sum is 

complementary angle.  

iwjddks.k → og dks.k ftudh 

90°gks] rks os nksuks ,d nqljs ds 

dgykrs gSA 

∠𝛼 +  ∠𝛽 = 90° 

 

 

(ii).  (Supplementary Angle)

angles whose sum is 180

supplementary angle.  

An angle that 

is called complete angle  

 

eki 360° gks iw.kZ 

¼dks.kksa es lEcU/k½→ 

Angle)→ Two 

Angles whose sum is 90° is called 

 ekiks dk ;ksx 

rks os nksuks ,d nqljs ds iwjd dks.k 

Angle)→ Two 

180° is called 

Leiwjd dks.k→  nks dks.k ftudh 

180° gks rks os nksuksa ijLij lEiwjd dks.k dgykrs 

gSaA 

 

    ∠𝛼 +  ∠𝛽 = 180° 

;gk¡ 𝛼, 𝛽lEiwjd dks.k gSaA 

∠𝛼 +  ∠𝛽 = 180° 

bUgs jSf[kd ;qXe dks.k Hkh dgrs gSaA 

 

(iii). (Vertically opposite Angle)

 Opposite angles su

intersection point of two intersecting 

lines is called vertically opposite angles. 

“kh"kkZfHkeq[k dks.k→ 

ij cus vkeus lkeus ds dks.k “kh"kkZfHkeq[k gksrs gSaA 

 

 

 

7.  Angle made by a transversal 

nks js[kkvks ds lkFk fr;

dks.k A  

L , M nks js[kk;sa gSa 

N→ fr;Zd js[kk gSa 

 

 

nks dks.k ftudh ekiksa dk ;ksx 

gks rks os nksuksa ijLij lEiwjd dks.k dgykrs 

 

lEiwjd dks.k gSaA  

 

jSf[kd ;qXe dks.k Hkh dgrs gSaA  

(Vertically opposite Angle)→

Opposite angles subtended on the 

intersection point of two intersecting 

lines is called vertically opposite angles.  

 nks js[kkvks ds izfrPNsnh fcUnw 

ij cus vkeus lkeus ds dks.k “kh"kkZfHkeq[k gksrs gSaA  

y a transversal with two lines. 

nks js[kkvks ds lkFk fr;Zd js[kk }kjk cuk;s x;s 

 

 

 

 

 



 

(i). (Vertically Opposite Angle)

“kh"kkZfHkeq[k dks.k  
∠1 =  ∠3 

∠2 =  ∠4 

∠5 =  ∠7 

∠6 =  ∠8 

(ii). (Corresponding Angle)

∠1 =  ∠5 

∠2 =  ∠6 

∠3 =  ∠7 

∠4 =  ∠8 

(iii). (Alternate Angle) ,dkUrj dks.k 

(Alternate Interior Angle) 

∠3 =  ∠5 ∠4 =  ∠6 

(Alternate Exterior Angle) 

∠1 =  ∠7 ∠2 =  ∠8 

(iv). (Sum of Interior Angle) 

;ksx 

∠3 +  ∠6 = 180° 

∠4 +  ∠5 = 180° 

(v). (Sum of Exterior Angle) 

;ksx 

∠1 +  ∠8  = 180° 

∠2 +  ∠7 =  180° 

 

 

(Vertically Opposite Angle) 

Angle) Lakxr dks.k  

,dkUrj dks.k  

 

 

Interior Angle) vUr dks.k dk 

Exterior Angle) cká dks.k dk 

8. Note → ( If transversal line intersect two 

parallel lines then each pair of 

corresponding angle i

;fn nks lekUrj jsa[kkvksa dks ,d fr;

izfrPNsn djs] rks cus laxr dks.k cjkcj gksrs gSaA 

9. If two transversal line intersect 

lines, then 

;fn rhu lekUrj js[kvksa dks fp=kuqlkj nks

fr;Zd js[kk izfrPNsn djs rks

L||M , M||N, 

Theory No. 

Triangle ¼f=Hkqt½ 

A Plane figure bounded with three sides.

 

If transversal line intersect two 

parallel lines then each pair of 

corresponding angle is equal.) 

nks lekUrj jsa[kkvksa dks ,d fr;Zd js[kk 

izfrPNsn djs] rks cus laxr dks.k cjkcj gksrs gSaA  

If two transversal line intersect three parallel 

lekUrj js[kvksa dks fp=kuqlkj nks 

Zd js[kk izfrPNsn djs rksA  

,  N||L 

 

ST

TU
=  

PQ

QR
 

 

 

 

Theory No. -2 

ounded with three sides. 

 



 
rhu Hkqtkvks ls f?kjh gqbZ lery cUn 

dgykrh gSaA  

 

Point -1 

Sum of all angles of a triangle is 180

f=Hkqt ds rhuks dks.kksa dk ;ksx180° gksrk gSaA

∠𝐴 +  ∠𝐵 +  ∠𝐶 = 180

 

 

Point -2 

Every exterior angle is equal to sum of interior 

opposite angles of a triangle 

Exterior Angle = Sum of Interior Opposite angle 

 

f=Hkqt dk ckgz; dks.k vUr % vfHkeq[k dks.kksa ds ;ksx 

ds cjkcj gksrk gSaA  

ckgz; dks.k  = vUr %vfHkeq[k dksa.kks dk ;ksx 

∠𝑎 +  ∠𝑏 +  ∠𝑐 = 180° 

 

∠𝑐 +  ∠𝑑 = 180°  

∠𝑎 +  ∠𝑏 = ∠𝑑 

 

lery cUn vkd`fr f=Hkqt 

180° 

gksrk gSaA 

180° 

Every exterior angle is equal to sum of interior 

Exterior Angle = Sum of Interior Opposite angle  

dks.k vUr % vfHkeq[k dks.kksa ds ;ksx 

vfHkeq[k dksa.kks dk ;ksx  

 

Point -3 

Sum of two sides of a triangle is always greater 

than third side of a triangle. 

f=Hkqt dh nks Hkqtkvks dk ;ksx rhljh Hkqtk ls cM+k 

gksrk gSaA   

(i). (𝑎 + 𝑏)  > 𝑐 

(ii). (𝑏 + 𝑐 ) > 𝑎 

(iii). (𝑎 + 𝑐 ) > 𝑏 

 

Point -4 

Differe 

nce of two sides of a triangle is always smaller 

than the third side.  

f=Hkqt dh nks Hkqtkvks dk ?kVko rhljh Hkqtk ls de 

gksrk gSaA  

(i). (𝑎 − 𝑏) > 𝑐 

(ii). (𝑏 − 𝑐) > 𝑎 

(iii). (𝑎 − 𝑐) > 𝑏 

 

 

 

 

Sum of two sides of a triangle is always greater 

than third side of a triangle.  

dh nks Hkqtkvks dk ;ksx rhljh Hkqtk ls cM+k 

of two sides of a triangle is always smaller 

 

dh nks Hkqtkvks dk ?kVko rhljh Hkqtk ls de 



 
Point -5 

If c is greatest side of ∆ 𝐴𝐵𝐶, and remaining two 

sides area (a,b) then 

f=Hkqt 𝐴𝐵𝐶 dh lcls cM+h Hkqtk c gSaA rFkk vU; nks 

Hkqtk;sa (a,b) gSA rks  

(i). 𝑎ଶ + 𝑏ଶ > 𝑐ଶ U;wudks.k f=Hkqt 

triangle) 

(ii). 𝑎ଶ + 𝑏ଶ = 𝑐ଶ ledks.k f=Hkqt 

triangle) 

(iii). 𝑎ଶ + 𝑏ଶ < 𝑐ଶ vf/kddks.k f=Hkqt 

angle triangle) 

→izFke prqFkkZ”k (First quadrant) 

positivegksrk gSa A  

Cos𝜃 = ௔
మା௕మି௖మ

ଶ௔
 

U;qudks.k f=Hkqt (Acute Angle Triangle

→ 𝑎ଶ + 𝑏ଶ − 𝑐ଶ > 0 

     𝑎ଶ + 𝑏ଶ > 𝑐ଶ 

ledks.k f=Hkqt (Right Angle Triangle) 

Cos  90° = 0 

→ 𝑎ଶ + 𝑏ଶ − 𝑐ଶ = 0 

     𝑎ଶ + 𝑏ଶ = 𝑐ଶ 

→f}rh; prqFkkZ”k (Second quadrant) 

Negativegksrk gSa A 

vf/kd dks.k f=Hkqt (Obtuse Angle Triangle

→ 𝑎ଶ + 𝑏ଶ − 𝑐ଶ < 0 

, and remaining two 

gSaA rFkk vU; nks 

dks.k f=Hkqt (Acute angle 

ledks.k f=Hkqt (Right Angle 

vf/kddks.k f=Hkqt (Obtuse 

(First quadrant) esa Cos𝜃 

Triangle) 

Right Angle Triangle)  

(Second quadrant) esa Cos𝜃 

Triangle) 

     𝑎ଶ + 𝑏ଶ < 𝑐ଶ 

 

Types of Triangle→ 

(1) Based on side→ 

(A). Sclane Triangle 

three different sides is called

fo"keckgq f=Hkqt (Sclane

ftldh rhuksa Hkqtkvksa dh yEck

Each angle is different. 

∠𝐴 ≠ ∠𝐵 ≠ ∠𝐶 

Note → lHkh dks.k vyx & vyx gksxsa 

(B). Isosceles Triangle)

has two equal sides is called isoscles 

triangle.  

lekf}ckgq f=Hkqt (Isosceles Triangle

ftldh rhuksa Hkqtkvksa esa ls nks dh 

Note →Angle opposite to equal sides are equal.
leku Hkqtkvksa ds lekus ds dks.k cjkcj gksrs gSaA 
 

(C). EquilateralTriangle

all three sides equal is called equilateral 

triangle. 

leckgq f=Hkqt (EquilateralTriangle)

ftldh rhuksa Hkqtkvksa dh yEck

 

 

 

 

 

Sclane Triangle → A triangle having 

three different sides is called sclane triangle. 

(Sclane Triangle) → og f=Hkqt 

ftldh rhuksa Hkqtkvksa dh yEckbZ vyx & vyx gksA  

Each angle is different.  

lHkh dks.k vyx & vyx gksxsa A 

Isosceles Triangle)→A triangle which 

has two equal sides is called isoscles 

(Isosceles Triangle)→ og f=Hkqt 

ftldh rhuksa Hkqtkvksa esa ls nks dh yEckbZ leku gksa A  

Angle opposite to equal sides are equal. 
leku Hkqtkvksa ds lekus ds dks.k cjkcj gksrs gSaA  

EquilateralTriangle→A triangle having 

all three sides equal is called equilateral 

(EquilateralTriangle)→ og f=Hkqt 

dh yEckbZ leku gksa A  



 
Note →Each Angle of equilateral triangle is 

equal. 

leckgq f=Hkqt dk izR;sd dks.k cjkcj gksrk gSaA 

 

(2) Based on angle →  dks.k ds vk/kkj ij 

(A). Acute Angle Triangle→

whose all angles are less than 90

U;wu dks.k (Acute Angle Triangle

ftldsa rhuks dks.k 90° ls de gksa A 

 

(B). Right Angle Triangle→A triangle i

which one angle is equal to90°

ledks.k (Right AngleTriangle)

ftldk ,d   dks.k 90°ds cjkcj gksa A

 

(C). Obtuse Angle Triangle →

which one angle is greater than 

vf/kddks.k f=Hkqt(Obtuse Angle T

f=Hkqt ftldk ,d dks.k 90° ls vf/kd 

Note- In a triangle opposite side of largest angle 

is large and opposite side of smallest angle is 

small.  

f=Hkqt esa lcls cM+s dks.k ds foijhr Hkqtk lcls cM+h 

vkSj lcls NksVs dks.k ds foijhr Hkqtk lcls NksVh 

gksrh gSA 

Each Angle of equilateral triangle is 

f=Hkqt dk izR;sd dks.k cjkcj gksrk gSaA  

ds vk/kkj ij  

→A triangle 

90° 

Triangle) → ,slk f=Hkqt 

 

A triangle in 

° 

) →,slk f=Hkqt 

gksa A 

→ A triangle in 

which one angle is greater than 90° 

Triangle) →,slk 

ls vf/kd gksa A 

triangle opposite side of largest angle 

is large and opposite side of smallest angle is 

f=Hkqt esa lcls cM+s dks.k ds foijhr Hkqtk lcls cM+h 

vkSj lcls NksVs dks.k ds foijhr Hkqtk lcls NksVh 

Theory No. 

The line which bisect of an angle 

part is called angle bisector.

dks.k lef}Hkktd (Angle 

cjkcj Hkkxksa esa ck¡Vus okyh js[kk dks dks.k 

lef}Hkktd cksyrs gSaA 

 

 

In-center → Intersecting point of all angle 

bisector of a triangle 

f=Hkqt ds rhuksa dks.kksa ds dks.k lef}Hkktd ftl 

fcUnw ij izfrPNsn djrs gSA ml vardsUnz dgrs gSaA

 

Note →Angle bisector divides the opposite side 

into the same proportion in which the angle 

forming sides.   

 

 

 

Theory No. -3 

isect of an angle in two equal 

isector. 

(Angle Bisector)→ dks.k dks nks 

cjkcj Hkkxksa esa ck¡Vus okyh js[kk dks dks.k 

 

 

Intersecting point of all angle 

isector of a triangle is called in-center.  

f=Hkqt ds rhuksa dks.kksa ds dks.k lef}Hkktd ftl 

fcUnw ij izfrPNsn djrs gSA ml vardsUnz dgrs gSaA 

isector divides the opposite side 

into the same proportion in which the angle 

 

 
 

  



 
dks.k lef}Hkktd foijhr Hkqtk dks mlh vuqikr esa 

foHkkftr djrk gS ftl vuqikr esa dks.k cukus okyh 

Hkqtk,saA  

 

 

Angle on in-center→ var % dsUnz ij cus dks.k

 

∠𝐵𝐼𝐶 = 90° +  
1

2
∠𝐴 

∠𝐴𝐼𝐶 = 90° +  
1

2
∠𝐵 

∠𝐴𝐼𝐵 = 90° +  
1

2
∠𝐶 

Note → In-center of a triangle is equidistant 

from three sides   

vardsUnz rhuksa Hkqtkvks ls leku nwjh ij gksxkA

In-radius ¼vaUr % f=T;k½ = r 

 

  
 
  

 

  
 

 
 

 

 

dks.k lef}Hkktd foijhr Hkqtk dks mlh vuqikr esa 

foHkkftr djrk gS ftl vuqikr esa dks.k cukus okyh 

var % dsUnz ij cus dks.k 

 

center of a triangle is equidistant 

rhuksa Hkqtkvks ls leku nwjh ij gksxkA 

 

If side of any triangle 

centre is ‘I’. AD and 

∠𝐵𝐴𝐶and ∠𝐴𝐵𝐶, ∠𝐴𝐶𝐵

;fn fdlh ∆ABC dh Hktk,a 

var%dsUnz ‘I’  gSaA ∠𝐵𝐴𝐶

∠𝐴𝐵𝐶 dk dks.k lef}Hkktd 

lef}Hkktd CF gS rks A

In ∆ABC 

AI : ID = (b+c) : a 

BI : IE =  (a+c) : b 

CI : IF =  (a+b) : c  

Ex-center → If P is intersecting point of exterior

angle bisector of ∠𝐵 , ∠

 

 
 

 

 

 

 

If side of any triangle ∆ABC are a,b,c and its in-

AD and BE, CF are angle bisector of 

𝐴𝐶𝐵 respectively then :- 

dh Hktk,a a,b,c  gSA vkSj mldk 

𝐵𝐴𝐶 dk lef}Hkktd AD vkSj 

dk dks.k lef}Hkktd BE vkSj ∠𝐴𝐶𝐵dk dks.k 

gS rks A 

 

If P is intersecting point of exterior 

∠𝐶 𝑜𝑓  ∆ABC then:- 

 

 

   

  
 

 

 

 

  
 



 

cfgZdsUnz(Ex-center)→ ;fn P f=Hkqt ds ckgz; dks.kks 

ds lef}Hkktd dk izfrPNsnh fcUnw gks 

∠𝐵𝑃𝐶 = 90° − 
1

2
∠𝐴 

∠𝐴𝑄𝐶 = 90° − 
1

2
∠𝐵 

∠𝐴𝑅𝐵 = 90° −  
1

2
∠𝐶 

Note → In-radius of right angle triangle

ledks.k f=Hkqt esa vUr o`r dh f=T;k 

 

Theory No. -4 
(Median) → Line joining a vertex of a triangle to 
the mid point of opposite side is called median. 

ef/;dk −fdlh Hkh “kh"kZ ls lkeus okyh Hkqtk ds 

e/; fcUnw dks feykus okyh js[kk ekf/;dk dgykrh 

gSaA 

     

 

  

f=Hkqt ds ckgz; dks.kks 

gks rks A 

radius of right angle triangle. 

dh f=T;k → 

 

Line joining a vertex of a triangle to 
the mid point of opposite side is called median.  

fdlh Hkh “kh"kZ ls lkeus okyh Hkqtk ds 

e/; fcUnw dks feykus okyh js[kk ekf/;dk dgykrh 

 

Note : (The ratio of area of triangles in a triangle is 
same as the ratio of base. 

→ f=Hkqt ds {ks=Qy dk vuqikr ogh jgrk gS tks 

muds vk/kkj dk vuqikr gSaA 

Note  : (Median divides area of a triangle in two 

equal parts) 

→ ef?;dk f=Hkqt ds {ks=Qy dks lef}Hkkftr djrh 

gSaA  

 

Area of ∆ABD = Area of 

 

 

 

 

  

 

 

 

 

 

 

The ratio of area of triangles in a triangle is 
ase.  

f=Hkqt ds {ks=Qy dk vuqikr ogh jgrk gS tks 

muds vk/kkj dk vuqikr gSaA  

 
divides area of a triangle in two 

ef?;dk f=Hkqt ds {ks=Qy dks lef}Hkkftr djrh 

ABD = Area of ∆ADC 

   

   



 
Note  : (Intersecting point of three medians of the 
triangle is called centroid or GRAVITY CENTRE

→f=Hkqt dh rhuks ef/;dk ftl fcUnw ij izfrPNsn 

djrh gSaA f=Hkqt dk dsUnzd ;k xq:Ro dsUnz dgykrk 

gSaA  

AD, BE, CF are Median. 

Centorid divides the area of triangle in 

parts 

→dsUnzd f=Hkqt ds {ks=Qy dks 6 cjkcj Hkkxksa esa 

foHkkftr djrk gSaA  

 

Note →(If the mid-points of side

is joint then the triangle divided in four equal 

parts. If medians are draw ins

triangles then it divide in 24 equal parts

  

 

Intersecting point of three medians of the 
GRAVITY CENTRE) 

f=Hkqt dh rhuks ef/;dk ftl fcUnw ij izfrPNsn 

djrh gSaA f=Hkqt dk dsUnzd ;k xq:Ro dsUnz dgykrk 

 

divides the area of triangle in 6 equal 

dsUnzd f=Hkqt ds {ks=Qy dks 6 cjkcj Hkkxksa esa 

of sides of a triangle 

then the triangle divided in four equal 

parts. If medians are draw inside the small 

in 24 equal parts.) 

→;fn f=Hkqt dh Hkqtkvks ds e?; fcUnqvks dks tksM+ 

fn;k tk, rks f=Hkqt dk {ks=Qy pkj cjkcj fgLlks 

eas cV tkrk gS A vkSj ;fn 

fn tk, rks ;g 24 cjkcj f=Hkkstks

ftudk {ks=Qy ,d leku gksxkA 

 

Centorid divide median in 2 : 1.

→xq:Ro dsUnz ef/;dk dks 2 % 1 esa ck¡Vrk gSaA 

 

Note →(Sum of all three median of a triangle is 

smaller than its perimeter.

→f=Hkqt dh ef/;dkvks dk ;ksx mlds ifjeki ls 

NksVk gksrk gSaA   

 

 

;fn f=Hkqt dh Hkqtkvks ds e?; fcUnqvks dks tksM+ 

dk {ks=Qy pkj cjkcj fgLlks 

cV tkrk gS A vkSj ;fn bu lHkh esa ef/;dk;s cuk 

24 cjkcj f=Hkkstks esas cV tkrk gS 

dk {ks=Qy ,d leku gksxkA  

 

Centorid divide median in 2 : 1. 

xq:Ro dsUnz ef/;dk dks 2 % 1 esa ck¡Vrk gSaA  

 

Sum of all three median of a triangle is 

smaller than its perimeter.) 

f=Hkqt dh ef/;dkvks dk ;ksx mlds ifjeki ls 

  

 

 



 
(AD + BE + CF < a + b +c ) 

 

 

Apollonium Theorm ¼viksyksfu;e 

 

  

 

 

 

Length of median →¼ef/;dk dh yEck

ABଶ + ACଶ = 2[ADଶ + DCଶ] 

∴ BD =

BAଶ + BCଶ = 2[BEଶ + EAଶ] 

∴ EA =

CBଶ + CAଶ = 2[CFଶ + FAଶ] 

∴ FB =

→If two median of a triangle cut each other at 

90° on the centoroid then,  

→;fn ,d gh f=Hkqt dh nks ekf/;dk 

 

ABଶ + ACଶ = 5BCଶ 

→ In a Right angle triangle if two median

and AM  are given, then AMଶ + CN

 

 

¼viksyksfu;e izes;½→ 

¼ef/;dk dh yEckbZ½  

= DC 

= EC 

= FA 

If two median of a triangle cut each other at 

;fn ,d gh f=Hkqt dh nks ekf/;dk 90° ij dkVs  

 

two medians CN 

CNଶ = ? 

→ ;fn ,d ledsk.k f=Hkqt 

vkSj AM nh gks] rks  AM

 

 

 

 

 

Remember ¼;kn j[ksa½ 

(1) Three times the sum of three sides of a 

triangle is less than to four times the sum of 

its median. 

f=Hkqt dh rhuksa Hkqtkvksa ds ;ksx dk frxquk] 

bldh rhuksa ekf/;dkvksa ds ;ksx ds pkSxqus ls de 

gksrk gSaA 

𝟑(𝑨𝑩 + 𝑩𝑪 + 𝑪𝑨

 

(2) Three times the sum of square of three sides 

of a triangle is equal to four times the sum of 

square of its median. 

f=Hkqt dh rhuksa Hkqtkvksa ds 

frxquk] blds rhuksa ekf/;dkvksa ds 

ds pkSxqus ds cjkcj 

𝟑(𝑨𝑩𝟐 + 𝑩𝑪𝟐 + 𝑪𝑨

 

Remember these points

 

 

 

 

ledsk.k f=Hkqt esa nks ekf/;dk;s CN 

AMଶ + CNଶ = \ 

¼;kn j[ksa½ → 

Three times the sum of three sides of a 

triangle is less than to four times the sum of 

f=Hkqt dh rhuksa Hkqtkvksa ds ;ksx dk frxquk] 

ldh rhuksa ekf/;dkvksa ds ;ksx ds pkSxqus ls de 

𝑪𝑨) < 4(𝒎𝟏 + 𝒎𝟐 + 𝒎𝟑) 

Three times the sum of square of three sides 

of a triangle is equal to four times the sum of 

square of its median.  

f=Hkqt dh rhuksa Hkqtkvksa ds oxksZ ds ;ksx dk 

rhuksa ekf/;dkvksa ds oxksZ ds ;ksx 

ds cjkcj gksrk gSaA 

𝑪𝑨𝟐) = 𝟒(𝑨𝑫𝟐 + 𝑩𝑬𝟐 + 𝑪𝑭𝟐) 

these points ¼fuEu fcUnw ;kn j[ksa½  

  



 
(i). (AD + BE +CF) < (𝑨𝑩 + 𝑩𝑪

(ii). 𝐀𝐁𝟐 + 𝐀𝐂𝟐 = 𝟐(𝐀𝐃𝟐 + 𝐃𝐂𝟐

(iii). 𝟑൫𝐀𝐁𝟐 + 𝐁𝐂𝟐 + 𝐂𝐀𝟐൯ = 𝟒൫𝐀𝐃𝟐

(iv). 3(AB + BC +CA) < 𝟒(𝑨𝑫 +

(v). 𝑨𝑴𝟐 + 𝑪𝑵𝟐 =
𝟓

𝟒
𝑨𝑪𝟐 

(vi). 𝑨𝑩𝟐 + 𝑨𝑪𝟐 = 𝟓𝑩𝑪𝟐 

 

→If three median’s (𝒎𝟏, 𝒎𝟐, 𝒎𝟑) of a triangle 

are given then its area : 

;fn f=Hkqt dh rhuks ef/;dk,sa (𝒎𝟏,

gks rks f=Hkqt dk {ks=Qy bl izdkj gksxk 

𝐴𝛼𝑒𝑎 =  
4

3
ඥ𝑠(𝑠 − 𝑚ଵ)(𝑠 − 𝑚ଶ

 

𝒔 =  
𝒎𝟏 + 𝒎𝟐 + 𝒎

𝟐

𝑺𝒎 = 𝑺𝒆𝒎𝒊 𝒑𝒆𝒓𝒊𝒎𝒆𝒕𝒆𝒓 𝒐𝒇

 

Theory No. -5

 

Side Perpendicular Bisector   

¼Hkqtk yEc lef}Hkktda½→ Intersecting point of 

side perpendicular bisector of three side of 

triangles is called circum-center. 

,d f=Hkqt ds rhuks Hkqtk yEc lef}Hkktd ftl 

fcUnw ij izfrPNsn djrs gSaA mls ifjdsUnz dgrs gSaA 
 

𝑩𝑪 + 𝑪𝑨) 

) 

൫ 𝟐 + 𝐁𝐄𝟐 + 𝐂𝐅𝟐൯ 

+ 𝑩𝑬 + 𝑪𝑭) 

) of a triangle 

𝒎𝟐, 𝒎𝟑) nh gqbZ 

bl izdkj gksxk :- 

ଶ)(𝑠 − 𝑚ଷ) 

𝒎𝟑
 

𝒐𝒇 𝒎𝒆𝒅𝒊𝒂𝒏𝒔 

5 

Intersecting point of 

isector of three side of 

,d f=Hkqt ds rhuks Hkqtk yEc lef}Hkktd ftl 

fcUnw ij izfrPNsn djrs gSaA mls ifjdsUnz dgrs gSaA  

 

D , E and F are mid point of side 

respectively. 

;gk¡ D, E rFkk F dze”k % Hkqtkvksa 

ds e/; fcUnw gSaA  

 

Angle on circum-center 

 

Circum-center is equidistant from three vertices 

of the triangle.  

ifjdsUnz rhuks “kh"kksZ ls leku nwjh ij gksrk gSaA 

 

 

 

E and F are mid point of side BC, AC & AB 

dze”k % Hkqtkvksa BC, AC rFkk AB 

center ¼ifjdsUnz ij cus dks.ka½  

 

center is equidistant from three vertices 

ifjdsUnz rhuks “kh"kksZ ls leku nwjh ij gksrk gSaA  

 
 



 

 
 

Radius of outer circle ¼ifjo`r dh f=T;k
 

 

 

Distance beetween in-center and circum

vardsUnz rFkk ifjdsUnz ds chp dh nwjh 

𝐷ଶ = 𝑅ଶ − 2𝑅𝑟 

𝐷 =  ඥ𝑅ଶ − 2𝑅𝑟 

Circum-center in different triangle 
f=Hkqtksa es ifjdsUnz½ 
 

(A). Acute angle triangle →¼U;wu dks.k f=Hkqt½

Circum-center lies inside in acute angle triangle. 

U;wu dks.k f=Hkqt esa ifjdsUnz ges”kk f=Hkqt ds vUnj 

curk gSaA  

 

 

`r dh f=T;k½ → 

circum-center  

vardsUnz rFkk ifjdsUnz ds chp dh nwjh  

center in different triangle →¼fofHkUu 

¼U;wu dks.k f=Hkqt½ 

center lies inside in acute angle triangle.  

U;wu dks.k f=Hkqt esa ifjdsUnz ges”kk f=Hkqt ds vUnj 

(B). Right angle triangle

Circum-center lies on mid point of hypotenuse 

of a right angle triangle. 

ledks.k f=Hkqt esa ifjdsUnz ges”kk 

    

(C). Obtuse angle 

 f=Hkqt½ 

Circumcenter lies outside the triangle in o

angle triangle.  

vf/kd dks.k f=Hkqt esa ifjdsUnz f=Hkqt ls ckgj curk 

gSaA  

 

Altitude of triangle →

 

 

 

Right angle triangle→¼ledks.k f=Hkqt½ 

center lies on mid point of hypotenuse 

of a right angle triangle.  

dks.k f=Hkqt esa ifjdsUnz ges”kk d.kZ ij curk gSaA  

 

  

tuse angle triangle→¼vf/kd dks.k 

Circumcenter lies outside the triangle in obtuse 

vf/kd dks.k f=Hkqt esa ifjdsUnz f=Hkqt ls ckgj curk 

→¼f=Hkqt ds “kh"kZ yEc½ 

 



 
If a line forms right angle on the opposite side 

of a triangle from any vertex will 

the triangle.  

fdlh Hkh “kh"kZ ls lkeus okyh Hkqtk ij 

okyh js[kk f=Hkqt dk “kh’kZ yEc gksxh A 

 

(Ortho-center)→ Intersecting point of three 
altitudes is called ortho center. 

¼yEc&dsUnz½→f=Hkqt ds rhuksa “kh"kZ yEc ftl fcUnq 
ij izfrPNsn djrs gS f=Hkqt dk yEc dsUn
gaSA 

Angle made on ortho-center → 

¼yEcdsUn ij cus dks.k½ 
 

If a line forms right angle on the opposite side 

of a triangle from any vertex will be altitude of 

fdlh Hkh “kh"kZ ls lkeus okyh Hkqtk ij 90° dk dks.k 

okyh js[kk f=Hkqt dk “kh’kZ yEc gksxh A  

Intersecting point of three 

 

f=Hkqt ds rhuksa “kh"kZ yEc ftl fcUnq 
ij izfrPNsn djrs gS f=Hkqt dk yEc dsUnz dgykrk 

 

∠𝐵𝑂𝐶 = ∠𝐸𝑂𝐹 Vertically 

(“kh"kkZfHkeq[k dks.k) 

Note → In ∆𝐀𝐁𝐂, P is a
midpoint of AB and R is 
circum-centre of ∆𝐀𝐁𝐂

f=Hkqt 𝐀𝐁𝐂 esa P Hkqtk 
Hkqtk AB dk vkSj R, A
f=Hkqt 𝐀𝐁𝐂 dk ifjdsUnz 

 

 

 

 

 

 

Ortho-centre in different 

f=Hkqtksa esa yEc dsUnz½ 

(A). Acute angle triangle

In acute angle triangle ortho

the triangle. 

U;wu dks.k f=Hkqt esa yEcdsUnz f=Hkqt ds vUnj curk 

gSa 

    

 

 

Vertically opposite angle 

, P is a midpoint of BC and Q is 
and R is the midpoint of AC. Then 

𝐀𝐁𝐂 is , ortho-center of ∆𝐏𝐐𝐑 

Hkqtk BC dk e/; fcUnw gSaA] Q 
R, AC dk e/; fcUnw gSaA rks 

dk ifjdsUnz ∆𝐏𝐐𝐑dk yEcdsUnz gksxkA    

centre in different triangle →¼fofHkUu 

Acute angle triangle→¼U;wudks.k f=Hkqt½ 

In acute angle triangle ortho-center lies inside 

U;wu dks.k f=Hkqt esa yEcdsUnz f=Hkqt ds vUnj curk 

 

    

 



 

(B). Right angle triangle →¼ledks.k f=Hkqt½

In right angle triangle ortho-center lies at the 

vertex where 90° angle is formed. 

ledks.k f=Hkqt esa yEcdsUnz 90° ij curk gSaA

 

(D). Obtuse angle triangle →¼vf/kd dks.k 

 f=Hkqt½ 

In obtuse angle triangle ortho

outside the triangle.  

vf/kd dks.k f=Hkqt esa yEcdsUnz f=Hkqt ds ckgj curk 

gSaA 

Some Important points → In triangle A

AD⊥BC and there is a point G on AD. 

with B and C then 

 

 

¼ledks.k f=Hkqt½ 

center lies at the 

angle is formed.  

ij curk gSaA 

 

¼vf/kd dks.k 

angle triangle ortho-center lies 

vf/kd dks.k f=Hkqt esa yEcdsUnz f=Hkqt ds ckgj curk 

 

triangle ABC, 

on AD. G is join 

(∆ABC esa AD Hkqtk B

,d fcUnw G gSaA G dks 

rks 

(i). ABଶ + CGଶ = AC

 

(ii).  

 

 

 

AO × OD = BO

Some Important result of Triangle 

(i). In equilateral triangle four center at a 

single point.  

 leckgq f=Hkqt ds pkjksa dsUnz ,d fcUnw ij 

 

 

 
 

 

 

 

BC ij yEc gSA rFkk AD ij 

dks B vkSj C ls feyk;k tkrk gS) 

ACଶ + BGଶ 

 

BO × OE = CO × OF 

result of Triangle → 

equilateral triangle four center at a 

 

leckgq f=Hkqt ds pkjksa dsUnz ,d fcUnw ij   

 

 

  



 
In Isosceles triangle four center are 

line.  

Lkef}ckgq f=Hkqt esa pkjksa dsUnz lajs[kh; gksrs gSaA 

    

  

 

 

 

 

 

 

fo"keckgq f=Hkqt esa (In sclane triangle) 

 

 

Ealer Line.  

 

 

G divide OC in 2 : 1  

 

 

  

are at a single 

js[kh; gksrs gSaA  

  

(In sclane triangle) → 

 

 

G, OC dks 2 : 1 esa ck¡Vrk gS

 

Congruency  ¼lokZaxlerk½

(i). SAS (Side–angle

If two corresponding sides &

angle of two triangle are equal then the two 

triangle are congruent. 

nks f=Hkqt dh nks laxr Hkqtk,¡ cjkcj gks rFkk ,d 

vkarfjd dks.k Hkh cjkcj gSaA rks nksukas f=Hkqt 

lokZxle gksxsa A 

 AB = DE  

BC = EF  

∠𝐵 = ∠𝐸  

∆ABC ≅ ∆DEF 

   [

 

(ii). AAS (Angle–angle

→¼dks.k&dks.k&Hkqtk

If two corresponding 

side of two triangle are equal then the two 

triangle are congruent. 

 

 

esa ck¡Vrk gS 

¼lokZaxlerk½→ 

angle-side) ¼Hkqtk&dks.k&Hkqtk½ 

If two corresponding sides & one included 

angle of two triangle are equal then the two 

triangle are congruent.  

nks f=Hkqt dh nks laxr Hkqtk,¡ cjkcj gks rFkk ,d 

vkarfjd dks.k Hkh cjkcj gSaA rks nksukas f=Hkqt 

 

 AB = DE 

 BC = EF 

 ∠A = ∠𝐷 

 ∆ABC ≅ ∆DEF 

[∴ ∠A and ∠D is not included angle]  

angle-side) 

dks.k&dks.k&Hkqtk½ 

If two corresponding angle& one corresponding 

of two triangle are equal then the two 

triangle are congruent.  



 
nks f=Hkqt dh nks laxr dks.k cjkcj 

Hkqtk Hkh leku gSaA rks nksuks ∆ lokZxle 

 AB = DE  ∠A = ∠

∠𝐴 = ∠𝐷  ∠B = ∠

∠𝐵 = ∠𝐸  BC = EF

Then   Then 

∆ABC ≅ ∆DEF ∆ABC ≅ ∆DEF

 

(iii). SSS (Side–side-side) →¼ Hkqtk&Hkqtk&Hkqtk

If three, corresponding sides are equal, then two 

triangles are congruent. 

;fn nks f=Hkqtks dh rhuksa laxr Hkqtk,a cjkcj gS rks 

nksuks f=Hkqt lokZaxle gksxsaA  

 

Side ¼Hkqtk½     AB = DE 

BC = EF 

AC = DF 

Then ∆ABC ≅ ∆DEF 

  

cjkcj gSaA vkSj ,d 

lokZxle gksxsa A 

∠𝐷 

∠𝐸 

EF 

DEF 

Hkqtk&Hkqtk&Hkqtk½ 

If three, corresponding sides are equal, then two 

;fn nks f=Hkqtks dh rhuksa laxr Hkqtk,a cjkcj gS rks  

 

  

 

 

(iv). RHS (Right angle 

→¼ ledks.k & d.kZ& Hkqtk ½

If the hypotenuse and one corresponding side 

of two right angle triangle are equal, then the 

two triangle are congruent. 

 

;fn nks f=Hkqtksa esa ,d & ,d dks.k leku gksaA nksuks 

dk d.kZ cjkcj gks rFkk ,d laxr Hkqtk Hkh cjkcj gks 

rks nksuks f=Hkqt lokZxle gksxsa A

∠B = ∠𝐸 = 90° 

AC = DF 

AB = DE 

Then 

∆ABC ≅ ∆DEF 

Theory No. 

Similarity  ¼le:irk½

(i). AAA (Angle-Angle 

Angle)→¼dks.k&dks.k&dks.k

 

 

RHS (Right angle – Hypoteniuse - side) 

¼ ledks.k & d.kZ& Hkqtk ½ 

If the hypotenuse and one corresponding side 

of two right angle triangle are equal, then the 

two triangle are congruent.  

;fn nks f=Hkqtksa esa ,d & ,d dks.k leku gksaA nksuks 

dk d.kZ cjkcj gks rFkk ,d laxr Hkqtk Hkh cjkcj gks 

kZxle gksxsa A 

 

Theory No. -6 (Important) 

irk½→ 

Angle 

¼dks.k&dks.k&dks.k½ 

 



 
If three corresponding angle of two triangle are 

equal, the two triangle are similar. 

;fn nks f=Hkqt ds rhuks laxr dks.k cjkcj gS rks 

nksuks f=Hkqt le:Ik gksaxsA  

∠A = ∠D 

∠B = ∠E 

∠C = ∠F 

Then ∆ABC~∆DEF 

And ratio between corresponding sides
୅୆

ୈ୉
=

୆େ

୉୊
=

୅େ

ୈ୊
 are equal. 

(This rules is called Angle Angle similarity rule. 

Because in two triangle if two angles are equal

then third angle will also equal.) 

bls dks.k&dks.k dk fu;e Hkh dgk tkrk gS D;ksa

;fn f=Hkqt ds nks dks.k cjkcj gksxs rks rhljk Hkh 

cjkcj gksxkA  

 

(ii). SAS (Side–angle-side) →¼Hkqtk&dks.k&Hkqtk½

If three corresponding angle of two triangle are 

equal, the two triangle are similar.  

rhuks laxr dks.k cjkcj gS rks 

 

And ratio between corresponding sides 

similarity rule. 

ecause in two triangle if two angles are equal 

 

ls dks.k&dks.k dk fu;e Hkh dgk tkrk gS D;ksafd 

sxs rks rhljk Hkh 

¼Hkqtk&dks.k&Hkqtk½ 

If two sides of two triangles are proportional &

their included angle is equal then two triangles 

are similar.  

;fn nks f=Hkqt dh laxr Hkqtk,¡ 

vkSj vkarfjd dks.k cjkcj gks rks f=Hkqt le:I

AB

DE

∠A

∆ABC

(iii). SSS (Side–side-side) 

If three side of two triangle are proportional 

then two triangle are similar. 

;fn nks f=Hkqt dh laxr Hkqtk,¡ 

nksuk f=Hkqt le:Ik gksaxsA 

In a ∆ABC and ∆DEF the ratio between 

 

 

If two sides of two triangles are proportional & 

their included angle is equal then two triangles 

f=Hkqt dh laxr Hkqtk,¡ leku vuqikr esa gSaA 

vkSj vkarfjd dks.k cjkcj gks rks f=Hkqt le:Ik gksaxsA  

 
AB

DE
=

AC

DF
 

∠A =  ∠D 

ABC~∆DEF 

side) →¼ Hkqtk&Hkqtk&Hkqtk½ 

If three side of two triangle are proportional 

then two triangle are similar.  

;fn nks f=Hkqt dh laxr Hkqtk,¡ ijLij laxr gS rks 

gksaxsA  

 

DEF the ratio between  

 

 



 
୅୆

ୈ୉
=

୆େ

୉୊
=

୅େ

ୈ୊
 are equal. 

∆ABC~∆DEF so there corresponding angles are 

equal. 

Note →  If two triangles are similar then.

;fn nks f=Hkqt le:Ik gS rks  

∴ Mଵ = Median ¼ef/;dk½ 

r = In-center radius ¼vUr&dsUnz½ 

R= Cir-cumcentre radius ¼ifjdsUnz½ 

A.Bଵ = Angle bisector ¼dks.k lEkf}Hkktd½

A.Lଵ = Altitude ¼yEc½ 

Ratio of corresponding sides of two similar 

triangles is equal to ratio of their 

corresponding Altitute, corresponding 

medians and corresponding angle 

nks le:i f=Hkqt dh laxr Hkqtkvksa dk vuqikr] 

mudh laxr Å¡pkbZ;ksa] laxr ekf/;dkvksa ,ao laxr 

dks.kksa ds v)Zd ds vuqikr ds cjkcj gksrk gSaA 

The ratio between 
𝐩𝐞𝐫𝐢𝐦𝐞𝐭𝐞𝐫 𝐨𝐟  ∆𝐀𝐁𝐂

𝐩𝐞𝐫𝐢𝐦𝐞𝐭𝐞𝐫 𝐨𝐟 ∆𝐃𝐄𝐅

the ratio of  

୅୆

ୈ୉
=

୆େ

୉୉
=

୅େ

ୈ୊
=

୅.௅భ

୅.௅మ
=

୅.஻భ

୅.஻మ
 = ௠భ

௠మ

  

corresponding angles are 

If two triangles are similar then. 

 

 

¼dks.k lEkf}Hkktd½ 

Ratio of corresponding sides of two similar 

triangles is equal to ratio of their 

, corresponding 

medians and corresponding angle bisector.  

nks le:i f=Hkqt dh laxr Hkqtkvksa dk vuqikr] 

/;dkvksa ,ao laxr 

vuqikr ds cjkcj gksrk gSaA  

𝐀𝐁𝐂 

𝐃𝐄𝐅 
 is equal to 

భ

మ
=

௥భ

௥మ
=

ோభ

ோమ
 

Note → Ratio of area

is equal to the. 

nks le:i f=Hkqt ds {ks=Qy dk vuqikr

Ratio of square of corresponding sides, ratio of 

square of corresponding heights, ratio of square 

of corresponding medians, ratio of squares of 

corresponding radius of inscri

squares of corresponding radius of circum

circle, ratio of squares of corresponding angle 

bisector segment 

proporational.  

laxr Hkqtkvks ds oxksZ ds vuqikr] laxr Å¡pk

oxksZ ds vuqikr] laxr ekf/;dkvksa

laxr vUr % o`r dh f=T;kvksa ds oxksZ ds vuqikr] 

laxr ckâ; o`r dh f=T;kvksa ds oxksZ ds vuqikr 

laxr dks.kksa ds v)ZZd js[kk[k.Mksa ds oxksZ ds vuqikr 

ds lekuqikrh gksrs gSaA 

The ratio between 
୅୰ୣୟ

୅୰ୣୟ

square of ratio of  

୅୆మ

ୈ୉మ =
୆େమ

୉୉మ =
୅େమ

ୈ୊మ =
(୅.௅భ)మ

(୅.௅మ)మ

 

Note → Remember these four point if two right 

angle triangles are made in a right angled 

triangle, then both the triangles will 

 

Ratio of area of two similar triangles 

nks le:i f=Hkqt ds {ks=Qy dk vuqikr→  

of square of corresponding sides, ratio of 

square of corresponding heights, ratio of square 

of corresponding medians, ratio of squares of 

corresponding radius of inscribed circle, ratio of 

squares of corresponding radius of circumscribe 

rcle, ratio of squares of corresponding angle 

 they all are equally 

laxr Hkqtkvks ds oxksZ ds vuqikr] laxr Å¡pkbZ;ksa ds 

kr] laxr ekf/;dkvksa ds oxksZ ds vuqikr 

dh f=T;kvksa ds oxksZ ds vuqikr] 

dh f=T;kvksa ds oxksZ ds vuqikr rFkk 

Zd js[kk[k.Mksa ds oxksZ ds vuqikr 

୅୰ୣୟ ୭୤ ∆୅୆େ 

୅୰ୣୟ ୭୤ ∆ୈ୉୊ 
 is equal to the 

)మ

)మ =
(୅.஻భ)మ

(୅.஻మ)మ= (௠భ)మ

(௠మ)మ =
(௥భ)మ

(௥మ)మ =
(ோభ)మ

(ோమ)మ 

er these four point if two right 

angle triangles are made in a right angled 

oth the triangles will be similar 



 
to each other and each small triangle also 

similar to larger triangle.  

;fn ,d ledks.k f=Hkqt esa nks ledks.k f=Hkqt cuk 

fn;s tk;s rks nksuks ,d nwljs ds le:i gksxs rFkk 

izR;sd NksVs okyk f=Hkqt cM+s okys f=Hkqt ds le:i 

gksxk rks ;s pkj ckrsa /;ku esa j[ksaA  

 

 

 

 

 

∆ABC ~∆ADB 

AB

AD
=

BC

DB
=

AC

AB
 

∴ ∠𝐴 = ∠𝐴 = 90 − 𝜃 

∠𝐵 = ∠𝐷 = 90 

∠𝐶 = ∠𝐵 =  𝜃 

(i) ஻஽

஼஽
=  

஺஽

஻஽
 

𝐵𝐷ଶ = 𝐴𝐷 × 𝐶𝐷 

(ii) ∆𝐵𝐷𝐶~∆𝐴𝐵𝐶 

BD

AB
=  

DC

BC
=

BC

AC
 

CD =
BCଶ

AC
 

other and each small triangle also 

;fn ,d ledks.k f=Hkqt esa nks ledks.k f=Hkqt cuk 

ds le:i gksxs rFkk 

okyk f=Hkqt cM+s okys f=Hkqt ds le:i 

(iii) ∆𝐴𝐵𝐷~∆𝐴𝐵𝐶 

AB

AC
=  

BD

CB
=

AD

AB

AD =
ABଶ

AC
 

BDଶ = AD × DC

In∆ABC, DE || BC then

;fn ∆ABC esa DE , BC ds lekUrj gks

From similarity  

By AAA rule ∆𝐀𝐁𝐂~∆

∠𝐴 = ∠𝐴 
∠𝐷 = ∠𝐵 
∠𝐸 = ∠𝐶 
So the ratio between 

஺஽

஺஻
=

஺ா

஺஼
=

஽ா

஻஼
 is equal to 

And  
஺஽

஽஻
=

஺ா

ா஼
 

 

Some important facts

(i). In ∆𝐴𝐵𝐶, AD is a 

and AM⊥BC then. 

 

 

 

AD

AB
 

DC 

then.  

ds lekUrj gks rks A 

 

∆𝐀𝐃𝐄 

the ratio between  

is equal to  

Some important facts→¼dqN egRoiw.kZ rF;½ 

, AD is a angle bisector of ∠𝐵𝐴𝐶 

C then.  



 
;fn f=Hkqt 𝐴𝐵𝐶 esa] ∠𝐵𝐴𝐶 dk dks.k lef}Hkktd 

AD gks ,aoAM ⊥ BC rks%& 

 

∠𝑀𝐴𝐷 =  
1

2
(∠𝐴𝐵𝐶 −  ∠𝐴𝐶𝐵

 

(ii). In a triangle ABC if angle 

interior ∠𝐵and exterior angle 

∠𝐶 meet at a point P, then 

∠𝐴 

,d f=Hkqt esa ∠𝐵dk vUr % f}Hkktd rFkk 

dks.k ∠𝐶 dk ckâk f}Hkktd fcUnw 

feyrs gSaA rks P ij cuk dks.k 

gksrk gSaA  

 

The two vertices are in such a way that the top 

of the first joint with the foot point of second 

 

 

dk dks.k lef}Hkktd 

𝐴𝐶𝐵) 

angle bisector of 

and exterior angle bisector of 

then ∠𝑃 is half of 

dk vUr % f}Hkktd rFkk 

dk ckâk f}Hkktd fcUnw P ij 

ij cuk dks.k ∠𝐴 dk vk/kk 

 

The two vertices are in such a way that the top 

of the first joint with the foot point of second 

and the top of the second joint with the foot 

point of first then find the perpendicular 

distance Z from where they intersect each other. 

nks yEc bl izdkj gS fd igys dk “kh"kZ nwljs ds i

fcUnw ls rFkk nwljs dk “kh"kZ igys ds i

feyk fn;k tk, rFkk tgk¡ ;s nksuks ,d nwljs dks 

dkVrs gS ogk¡ ls yEcor nwjh 

Note →If the three lines are pa

the value of 

;fn rhuks js[kk lekUrj gks rks 

 

Theory No. 

Cevians  

A cevian is any line in a triangle with 

on a vertex of the triangle and the other end point 

on the opposite side. Medians

Bisector are special case of cevians. 

lhfo;u fdlh f=Hkqt esa ,d js[kk gksrh gS ftldk 

,d ,aM ikWbV ,d “kh"kZ ij rFkk nwljk ,aM ikW

 

 

and the top of the second joint with the foot 

point of first then find the perpendicular 

distance Z from where they intersect each other.  

gS fd igys dk “kh"kZ nwljs ds in 

rFkk nwljs dk “kh"kZ igys ds in fcUnw ls 

k tgk¡ ;s nksuks ,d nwljs dks 

ls yEcor nwjh Z Kkr djksA 

If the three lines are parallel, then find 

kk lekUrj gks rks Z dk eku Kkr djksA 

 

 

 

Theory No. -7 

A cevian is any line in a triangle with one end point 

on a vertex of the triangle and the other end point 

on the opposite side. Medians, Altitudes and Angle 

isector are special case of cevians.  

lhfo;u fdlh f=Hkqt esa ,d js[kk gksrh gS ftldk 

V ,d “kh"kZ ij rFkk nwljk ,aM ikWbV 



 
lkeus okyh Hkqtk ij gksrk gSaA ekf/;dk] yEc] dks.k 

lef}Hkktd lhfo;u ds eq[; izdkj gSaA  

Case-I→ ∆𝐴𝐵𝐶 esa AD, BE,CF lhfo;u gSaA rFkk 

AP,OQ ds lekUrj gSaA  

 

 

 

 

 

∆𝐴𝑃𝐷 ~ ∆𝑂𝑄𝐷 by similarity 

∠𝑃 = ∠𝑄 

∠𝐴 = ∠𝑂 

∠𝐷 = ∠𝐷(Common Angle) 

஺௉

ைொ
=

௛భ

௛మ
=

஺஽

ை஽
a are in equal ratio 

Area of ∆ABC 

Area of ∆BOC 
=

ଵ

ଶ
× 𝐵𝐶 × ℎଵ

ଵ

ଶ
× 𝐵𝐶 × ℎଶ

=
ℎଵ

ℎଶ
 

Area of ∆ABC 

Area of ∆BOC 
=

𝐴𝐷

𝑂𝐷
 

Area of ∆BOC 

Area of ∆ABC 
=

𝑂𝐷

𝐴𝐷

 

okyh Hkqtk ij gksrk gSaA ekf/;dk] yEc] dks.k 

eq[; izdkj gSaA   

lhfo;u gSaA rFkk 

 

𝑂𝐷

𝐴𝐷
 

Case-II → ∆𝐴𝐵𝐶esa AD, B

eku Kkr djksA 

𝑂𝐷

𝐴𝐷
+

𝑂𝐸

𝐵𝐸
+

𝑂𝐹

𝐹𝐶
= ? 

஺ை

஺஽
+

஻ை

஻ா
+

஼ை

஼ி
= ? 

 

 

 

 

 

 

Area of ∆BOC 

Area of ∆ABC
=

𝑂𝐷

𝐴𝐷
…

Area of ∆AOC

Area of ∆ABC 
=

𝑂𝐸

𝐵𝐸
…

Area of ∆AOB 

Area of ∆ABC 
=

𝑂𝐹

𝐹𝐶
…

Add all three equations

𝑂𝐷

𝐴𝐷
+

𝑂𝐸

𝐵𝐸
+

𝑂𝐹

𝐹𝐶
=

∆𝐵𝑂𝐶

OD

AD
+

OE

BE
+

OF

FC
=

∆ABC

∆ABC

OD

AD
+

OE

BE
+

OF

FC
= 1 

AO

AD
+

BO

BE
+

CO

CF
= 2 

 

AD, BE,CF lhfo;u gSaA rks fuEu 

… … … . . (𝑖) 

… … … … . (𝑖𝑖) 

… … … … . (𝑖𝑖𝑖) 

all three equations (i), (ii) and (iii) 

𝐵𝑂𝐶 + ∆𝐴𝑂𝐶 + ∆𝐴𝑂𝐵

∆𝐴𝐵𝐶
 

= 1 

 



 

Case–III → ∆𝐴𝐵𝐶esa AD, BE,CF lhfo;u gSaA 

vk/kkj dk vuqikr BD:DC = x:y  gS rks

୅୰ୣୟ ୭୤ ∆୅୓୆ 

୅୰ୣୟ ୭୤ ∆୅୓େ 
=

௫

௬
 

 

∆𝐴𝐵𝐶 esa 

Area of ∆ABD 

Area of ∆ACD 
=

𝐵𝐷

𝐷𝐶
=

𝑥

𝑦
 

Area of ∆ABD 

Area of ∆ACD 
=

𝑘𝑥

𝑘𝑦
… … … … (𝑖) 

∆𝐵𝑂𝐶 esa 

Area of ∆BOD 

Area of ∆COD 
=

𝐵𝐷

𝐷𝐶
=

𝑥

𝑦
 

Area of ∆BOD 

Area of ∆COD 
=

𝐿𝑥

𝐿𝑦
… … … … (𝑖𝑖) 

From equation (i) & (ii) 

∆ABD − ∆BOD 

∆ACD − ∆COD
=

Area of ∆AOB 

Area of ∆AOC 
=

 

lhfo;u gSaA ;fn 

gS rks 

𝑥(𝐾 − 𝐿)

𝑦(𝐾 − 𝐿)
 

Area of ∆AOB 

Area of ∆AOC 
=

𝑥

𝑦
 

→If Area of ∆AOBis  ,

DC = x : y then find 
୅୰ୣୟ

୅୰ୣୟ

 

 

 

 

 

 

 

From above equation 
ఈ

ఉ
=

௫

௬
 …..(i)  ௔

௕

By equation (i) and (ii)  

Case –IV→ ∆𝐴𝐵𝐶 esa 
஺ி

ி஻
×

஻஽

஽஼
×

஼ா

஺ா
= 1 

Area of ∆ABO 

Area of ∆ACO 
=

𝐵𝐷

𝐷𝐶
…

 

is  , Area of∆AOC is 𝛽andBD : 

୅୰ୣୟ ୭୤ ∆୆୓ୈ 

୅୰ୣୟ ୭୤ ∆େ୓ୈ 
=? 

ove equation  
௔

௕
=

௫

௬
……..(ii) 

By equation (i) and (ii)  
ఈ

ఉ
=

௔

௕
 

esa AD, BE,CF lhfo;u gSaA rks 

 

 

 

 

… … … … (𝑖) 



 
Area of ∆BOC 

Area of ∆AOB 
=

𝐶𝐸

𝐴𝐸
… … … … (𝑖𝑖) 

Area of ∆AOC 

Area of ∆BOC 
=

𝐴𝐹

𝐹𝐵
… … … … (𝑖𝑖𝑖) 

Multiply equation(𝑖) × (𝑖𝑖) × (𝑖𝑖𝑖) 

𝐴𝐹

𝐹𝐵
×

𝐵𝐷

𝐷𝐶
×

𝐶𝐸

𝐴𝐸
= 1 

Important theorem → 

In a triangle ABC, O is a point. O is su

perpendicular on BC, AB, AC then  

,d f=Hkqt esa ∆ABC esa O ,d fcUnw gSaA 

rFkk AC ij yEc Mkyk tkrk gSaA rks 

 

 

ADଶ + BEଶ + CFଶ =? 

 

 

 

 

 

 

∆ADO rFkk ∆AFO esa 

 

 

 

C, O is a point. O is subtended 

,d fcUnw gSaA O ls BC, AB 

ij yEc Mkyk tkrk gSaA rks  

AOଶ = ADଶ + DOଶ … … …

AOଶ = AFଶ + FOଶ … … …

∆BDO rFkk ∆BEO esa 

BOଶ = BEଶ + EOଶ … … …

BOଶ = BDଶ + DOଶ … … …

∆CEO rFkk ∆CFO esa 

COଶ = CFଶ + FOଶ … … …

COଶ = CEଶ + EOଶ … … …

Addition equation (1) + (3)+(5) = (2)+(4)+(6)

ADଶ + DOଶ + BEଶ + EOଶ

= AFଶ + FOଶ + BDଶ + DO

ADଶ + BEଶ + CFଶ = BDଶ

 

Theory No. -8 

 

Quadrilateral ¼prqHkqZt½

A plane figure bounded with four sides is known as 

quadrilateral othr way a quadrilateral is a polygon 

with four edges and four vertices or corners 

pkj Hkqtkvks ls f/kjh gqb

dgykrh gSaA vFkkZr ,slh 

Hkqtk rFkk pkj gh dksusa ls f?kjh cUn 

dgykrh gSaA  

 

 

 

… … … . (1) 

… … … . (2) 

… … … . (3) 

… … … . (4) 

… … … . (5) 

… … … . (6) 

Addition equation (1) + (3)+(5) = (2)+(4)+(6) 

ଶ + CFଶ + FOଶ 

DOଶ + CEଶ + EOଶ 

ଶ + ECଶ + AFଶ 

¼prqHkqZt½→ 

ounded with four sides is known as 

quadrilateral othr way a quadrilateral is a polygon 

with four edges and four vertices or corners  

bZ lery cUn vkdf̀r prqHkZqr 

dgykrh gSaA vFkkZr ,slh dksbZ vkd`fr ftldh pkj 

Hkqtk rFkk pkj gh dksusa ls f?kjh cUn vkd̀fr prqHkqZt 

 



 
 

 

 

 

AB, BC, CD, AD, Are four side of quadrilateral.

The sum of four angle of quadrilateral is 

prqHkqZt ds pkjksa dks.kksa dk ;ksx 360° 

 

 

 

 

∠𝐴 +  ∠𝐵 + ∠𝐷 + ∠𝐷 = 360

Some Important Points → 

 

(1) The quadrilateral ABCD has to diagonal AC, 

BD. If both meet each other E then.  

prHkqZt ABCD esa nks fod.kZ AC, BD 

nqljs dks E ij feyrs gS rks  

୅୰ୣୟ ୭୤ ∆୅୆ୈ 

୅୰ୣୟ ୭୤ ∆୆େୈ 
=

௔

௕
 

୅୰ୣୟ ୭୤ ∆୅୆େ 

୅୰ୣୟ ୭୤ ∆୅ୈେ 
=

௖

ௗ
 

 

(2) Figure formed on joining the mid points of 

all  four sides of a quadrilateral?

 

 

 

 

 

 

 

 

of quadrilateral. 

The sum of four angle of quadrilateral is 360° 

 gksrk gSaA 

360° 

CD has to diagonal AC, 

oth meet each other E then.   

 gSaA nksuks ,d 

Figure formed on joining the mid points of 

quadrilateral? 

prHkqZt ds pkjksa Hkqtkvksa ds e/; fcUnw dks feykus ij 

cuus okyh vkd`fr D;k gksxh A

(A) Rectangle ¼vk;r½ 

(B) Square ¼oxZ½ 

(C) Parallelogram ¼lekUrj prqHkqZt½

(D) Rhombus ¼leprqHkqZt½

 

 

 

 

 

 

∴ f=Hkqt ds nks Hkqtk ds e/; fcanw feykus okyh js[kk 

rhljh ls vk/kh rFkk mlds laekrj gksrh gSaA 

AC=𝑑ଵ, 𝐵𝐷 = 𝑑ଶ 

 

 

 

 

𝐼𝑛 ∆𝐴𝐵𝐶 𝐷 𝑎𝑛𝑑 𝐸 𝑎𝑟𝑒

 

 

 

 

 

 

 

 

 
 

 

 

 

ds pkjksa Hkqtkvksa ds e/; fcUnw dks feykus ij 

D;k gksxh A 

 

¼lekUrj prqHkqZt½ 

¼leprqHkqZt½ 

f=Hkqt ds nks Hkqtk ds e/; fcanw feykus okyh js[kk 

rhljh ls vk/kh rFkk mlds laekrj gksrh gSaA  

𝑎𝑟𝑒 𝑚𝑖𝑑 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝐴𝐵 𝑎𝑛𝑑 𝐴𝐶 

 

 



 
 

 

𝑃𝑄 = 𝑆𝑅 & 𝑃𝑆 = 𝑄𝑅  

If opposite side equal & parallel then it will 

parallelogram 

vxj foijhr Hkqtk cjkcj vkSj lekUrj gks rks ;g 

lekUrj prqHkZqt gksxkA  

(3) ABCD is a quadrilateral it diagonal is D. 

draw perpendicular on AC from 

area of quadrilateral? 

ABCD ,d prqHkqZt gSaA bldk fod.kZ 

AC ij B rFkk D ls nks yEc [khps rks prqHkqZt dk 

{ks=Qy & \ 

∆= Area of ∆ACD + Area of ∆ACB 

∆=
1

2
× 𝑑 × 𝑝ଵ +

1

2
× 𝑑 × 𝑝ଶ 

Area = ଵ
ଶ

× (𝑝ଵ + 𝑝ଶ) × 𝑑 

(4) In quadrilateral ABCD, AB& CD carried forward 

so the angle ∠𝑥, ∠𝑦 become then ∠

,d prqHkqZt ABCD esa AB rFkk CD d

tk;s rks ∠𝑥, ∠𝑦 curs gSaA rks ∠𝑥, ∠𝑦 =

 

 

 

 

 

If opposite side equal & parallel then it will be 

vxj foijhr Hkqtk cjkcj vkSj lekUrj gks rks ;g 

CD is a quadrilateral it diagonal is D. 

draw perpendicular on AC from B & D then 

ldk fod.kZ D gSaA fod.kZ 

ls nks yEc [khps rks prqHkqZt dk 

 

& CD carried forward 

∠𝑥, ∠𝑦 =? 

dks vkxs c∠k;k 

=? 

 

∠(𝑥 + 𝑦) = ∠(𝑎 + 𝑏) 

prqHkqZt ds pkjks dks.kks dk ;ksx 

∠𝑎 + 180 − ∠𝑥 + ∠𝑏 +

∠𝑎 + ∠

(5) If two diagonal of quadrilateral A

each other at 90° then

;fn prqHkqZt ABCD dss nksuksa fod.kZ ,d & nwljs dks 

90° ij dkVs rks A  

 

𝐴𝐵ଶ + 𝐶𝐷ଶ = 𝐴𝐷ଶ + 𝐵𝐶

 

(6) If angle between diagonal is given in the 

quadrilateral ABCD the area:

prqHkqZt ABCD esass fod.kZ 

gks rks {ks=Qy %& 

BD=𝑑ଵ, 𝐴𝐶 = 𝑑ଶ 

 

 

 

 

 

 

 

 

  

 

)

prqHkqZt ds pkjks dks.kks dk ;ksx = 360° 

180 − ∠𝑦 = 360° 

∠𝑏 = ∠𝑥 + ∠𝑦 

If two diagonal of quadrilateral ABCD intersect 

then 

dss nksuksa fod.kZ ,d & nwljs dks 

  

𝐵𝐶ଶ 

etween diagonal is given in the 

CD the area:-  

ss fod.kZ ds chp dk dks.k 𝜃  fn;k 

 

 

 

  



 

𝐴𝛼𝑒𝑎𝐴𝐵𝐶𝐷 =  
1

2
𝑑ଵ𝑑ଶ𝑠𝑖𝑛𝜃

 

;g Formula  𝐴𝛼𝑒𝑎 =  
1

2
𝑑1𝑑2𝑠𝑖𝑛𝜃 Rectangle, square, 

parallelogram, Rhombus lc esa Same 

 

(7) If diagonal bisect each other at O in 

ABCD. 

prqHkqZt ABCD esass nksuks fod.kZ O 

𝐴ଵ × 𝐴ଷ = 𝐴ଶ × 𝐴ସ 

 

 

 

 

 

;g lHkh prqHkqZt esa gksrk gSaA  

 

(8) Angle made on O is ∠𝐵𝑂𝐶 =  
∠஺

ଶ

bisector of two angle of any quadrilateral. 

fdlh Hkh prqHkqZt ds nks dks.kksa dk dks.k lef}Hkktd 

}kjk O ij cuk;k x;k dks.k A  
 

 

∠𝐵𝑂𝐶 =  
∠஺

ଶ
+

∠஽

ଶ
 

 

 

 

 

 

  

 
  

 

 

 
  

 

 

 

𝑠𝑖𝑛𝜃 

Rectangle, square, 

Same gksrk gSaA  

isect each other at O in quadrilateral 

 ij dkVrs gSa rks  

஺

ଶ
+

∠஽

ଶ
 𝑏𝑦 angle 

isector of two angle of any quadrilateral.  

fdlh Hkh prqHkqZt ds nks dks.kksa dk dks.k lef}Hkktd 

Theory No. 

 

Rectangle ¼vk;r½→ 

A rectangle is a quadrilateral with four right angles 

and opposite side are parallel.  

,slk dksbZ Hkh prqHkqZt ftldh foijhr Hkqtk cjkcj 

vkSj lekUrj gks rFkk izR;sd dks.k 

dgykrk gSaA  

L = Length ¼yEckbZ½  

B = breadth ¼pkSM+kbZ½ 

AB||DC  

AD||BC 

∠𝐴 = ∠𝐵 = ∠𝐶 = ∠𝐷 =

Diagonal =𝑑ଵ, 𝑑ଶ 

Some Important Points 

(1) Diagonal of a rectangle are equal and don’t cut 

each other 90° 

vk;r ds nksuks fod.kZ cjkcj gksrs gSaA rFkk ,d nwljs 

dks 90° ij ugha dkVrs A

 

AC = BD fod.kZ (Diagonal) 

AB ||CD, AD ||BC 

 

  

  

 
  

 

 

 

 

Theory No. -9 

 

A rectangle is a quadrilateral with four right angles 

and opposite side are parallel.   

Z Hkh prqHkqZt ftldh foijhr Hkqtk cjkcj 

vkSj lekUrj gks rFkk izR;sd dks.k 90°gks vk;r 

= 90° 

Some Important Points → 

Diagonal of a rectangle are equal and don’t cut 

vk;r ds nksuks fod.kZ cjkcj gksrs gSaA rFkk ,d nwljs 

ij ugha dkVrs A 

(Diagonal)  

  

  

 

 

  



 
 

(2) Both diagonal equally bisect each other.

vk;r ds nksuks fod.kZ ,d &

lef}Hkkftr djrs gSaA 

      

           AO =  OC

OB =  OD
ቃ 

 

 

(3) Both equally bisect the area of rectangle. 

nksuks fod.kZ {ks=Qy dks lef}Hkkftr djrk gS

 

 

 

 

 

From similarity ∆ABD~∆CDB 

BD (Common diagonal) 

AB = CD (length) 

AD = BC (Breadth) 

 

(4) In rectangle both the diagonal are divide the 

area into four equal parts. 

nksuks fod.kZ {ks=Qy dks pkj cjkcj Hkkxksa esa 

ck¡Vrs gSaA  

 

 

 

 

 

  

isect each other. 

vk;r ds nksuks fod.kZ ,d & nwljs dks 

isect the area of rectangle.  

fod.kZ {ks=Qy dks lef}Hkkftr djrk gS 

oth the diagonal are divide the 

pkj cjkcj Hkkxksa esa 

 

 

Area of  ∆AOB = ∆BOC

 

(5) (i)If O is a point inside 

vk;r ABCD ds vUnj fLFkr ,d fcUnw 

rks%& 

Area of 𝐴ଵ + 𝐴ଷ = 𝐴

(A = Area) 

 

 

 

 

 

 

 

 

(ii) If O is a point inside 

;fn vk;r ABCD 

gks rks%& 

OAଶ + OCଶ = OBଶ +

 

 

 

 

 

(iii) If O is outside the rectangle then :

;fn O vk;r ds ckgj fcUnw gks rks %&

 

 

 

 

 

= ∆COD = ∆DOA =
ଵ

ସ
 ABCD 

If O is a point inside a rectangle ABCD, then . 

ds vUnj fLFkr ,d fcUnw O gks 

𝐴ଶ + 𝐴ସ 

If O is a point inside a rectangle ABCD, then. 

 ds vUnj fLFkr ,d fcUnw O 

+ ODଶ 

If O is outside the rectangle then :-  

vk;r ds ckgj fcUnw gks rks %& 

 

 



 
 

 

 

 

 

 

 

 

OAଶ + OCଶ = OBଶ + ODଶ 

 

 

 

(6) Figure formed on joining the Mid points of all 

the sides of a rectangle ? 

vk;r ds pkjksa Hkqtk ds e/; fcUnw dks feykus ij 

cuus okyh vkd`fr D;k gksxh A  

 

 

 

 

 

∴  f=Hkqt ds nks Hkqtk ds e/; fcUnw dks feykus 

 okyh js[kk rhljh ls vk/kh rFkk 

 gksrh gSaA  

 

 

 

Figure formed on joining the Mid points of all 

ds pkjksa Hkqtk ds e/; fcUnw dks feykus ij 

f=Hkqt ds nks Hkqtk ds e/; fcUnw dks feykus 

rFkk mlds laekrj 

 

 

 

∴ nksuks fod.kZ ,d nwljs dks 

nks lekUrj js[kk ds chp vUr % dks.kksa dk ;ksx 

gksrk gSaA  

PQRS is a Rhombus 

PQRS ,d leprqHkqZt gSaA 

(7) In rectangle diagonal are not angle 

vk;r esa fod.kZ dks.k lef}Hkktd ugha gksrs gSA 

 

 

 

 

 

AB||CD & AD || BC 

AB = CD & AD = BC 

If both line are parallel then 

∠𝐷𝐶𝐴 =  ∠𝐶𝐴𝐵(Alternate angle 

∠𝐵𝐶𝐴 =  ∠𝐶𝐴𝐷(Alternate angle

 

(8) Quadrilateral formed 

of a rectangle is.  

vk;r ds dks.kksa ds 

D;k gksxk A  

 

 

 

nksuks fod.kZ ,d nwljs dks 90° ij ugha dkVrs rFkk 

nks lekUrj js[kk ds chp vUr % dks.kksa dk ;ksx 180° 

,d leprqHkqZt gSaA  

In rectangle diagonal are not angle bisector.  

esa fod.kZ dks.k lef}Hkktd ugha gksrs gSA  

 

oth line are parallel then  

Alternate angle ) 

Alternate angle) 

Quadrilateral formed by angle bisector of angles 

ds dks.kksa ds lef}Hkktd ls cuk prqHkqZt 

 



 
 

 

 

 

∆APB ≅ ∆DSC 

AP = PB = x (same  angle = 45°) 

DS = CS = x  

∆ARDesa 

AR = RD = y (same  angle = 45°) 

pkjks dks.k 90° rFkk ikl&ikl okyh Hkqtk cjkcj 

rks oxZ gksxkA  

Four angle are 90° & adicent side are equal then it is 

a square.  

 

(9) In any rectangle the mid point of 

and Q then :- 

fdlh Hkh vk;r esa AB, CD ds e/; fcUnw 

rks  

 

 

 

 

 

P, Q are midpoint of AB and CD. 

DS , ST , TB are equal. 

(DS = ST = TB) 
 

 

 
 

 

rFkk ikl&ikl okyh Hkqtk cjkcj gSa 

& adicent side are equal then it is 

In any rectangle the mid point of AB, CD are P 

ds e/; fcUnw P, Q gS 

(10) In rectangle AB

DC then. 

vk;r ABCD esa ;fn 

uk gks rks A 

P is not mid point of DC 

P, DC dk e/; cUnw ugha gSaA

Area of ∆APB =
ଵ

ଶ
 rectangle A

 

 

 

BCD, P is not midpoint of Side 

esa ;fn P Hkqtk DC dk e/; fcUnw 

P is not mid point of DC  

dk e/; cUnw ugha gSaA 

rectangle ABCD. 

  

 
  



 
Theory No. -10 

Parallelogram ¼lekUrj prqHkqZt½→ 

If each pair of opposite sides of a quadrilateral are 

equal and parallel, then that quadrilateral is known 

as parallelogram.  

;fn fdlh prqHkqZt ds foijhr Hkqtkvksa ds ;qXe 

o lekUrj gks] rks ml prqHkqZt dks lekUrj prqHkqZt 

dgrs gSaA  

 

AB||DC, AD||BC 

AB = CD, AD = BC  

 

Some Important Points → 

(1) Both the diagonal of parallelogram are neither 

equal nor do they cut at 90° 

lekUrj prqHkqZt ds nksuks fod.kZ u rks cjkcj gksrs 

gS vkSj u gh 90° ij dkVrs gSaA 

 

 

 

 

𝑑ଵ = 𝑑ଶ& 𝑑ଵ  𝑑ଶ(𝑑ଵ 𝑎𝑛𝑑 𝑑ଶ = diagonal

 

 

 

If each pair of opposite sides of a quadrilateral are 

equal and parallel, then that quadrilateral is known 

;fn fdlh prqHkqZt ds foijhr Hkqtkvksa ds ;qXe cjkcj 

o lekUrj gks] rks ml prqHkqZt dks lekUrj prqHkqZt 

 

oth the diagonal of parallelogram are neither 

lekUrj prqHkqZt ds nksuks fod.kZ u rks cjkcj gksrs 

= diagonal) 

(2) In parallelogram b

bisect each other.  

lekUrj prqHkqZt esa nksuks fod.kZ ,d & nwljs dks 

lef}Hkkthr djrs gSaA 

 

 

 

 

 

AC and BD are diagonal

(AO = OC &BO = OD) 

 
 
(3) Both the diagonal

parallelogram.  

nksuks fod.kZ lekUrj prqHkqZt ds {ks=Qy dks 

lef}kHkkftr djrs gSaA 

 
(4) In parallelogram b

the area of parallelogram in 4 parts.

lekUrj prqHkqZt esa nksuks fod.kZ {ks=Qy dks 4 

cjkcj Hkkxksa esa ck¡Vrs

 

 

 

 

(Area of ∆AOB = ∆BOC

(5) If O is a point inside parallelogram A

 

 

 

 

 

both the diagonals are equally 

lekUrj prqHkqZt esa nksuks fod.kZ ,d & nwljs dks 

lef}Hkkthr djrs gSaA  

D are diagonal. 

 

oth the diagonals equally bisect the are of 

nksuks fod.kZ lekUrj prqHkqZt ds {ks=Qy dks 

lef}kHkkftr djrs gSaA  

both diagonal equally bisect 

the area of parallelogram in 4 parts. 

lekUrj prqHkqZt esa nksuks fod.kZ {ks=Qy dks 4 

rs gSa A  

= ∆COD = ∆DOA =
ଵ

ସ
 ABCD) 

If O is a point inside parallelogram ABCD, then  

 

 



 
;fnlekUrj prqHkqZt ABCD ds vUnj fLFkr ,d 

fcUnw O gks rks%& 

 

 

 

 

 

 

Area of ABCD = Base x h 
Aଵ + Aଷ = Aଶ + Aସ 
 
(6) In a parallelogram diagonals are

bisector.  

lekUrj prqHkqZt esa fod.kZ dks.k lef}Hkktd ugha 

gksrs gSaA  

 

 

 

 

 

AB||CD & AD||BC  
 
If both line are parallel then  

 

 ∠𝐷𝐶𝐴 =  ∠𝐶𝐴𝐵

∠𝐵𝐶𝐴 =  ∠𝐶𝐴𝐷
ቃ,dkUrj dks.k (Alternate Angle

(7) Quadrilateral formed by the angle 

angles of a parallelogram is.  

  

 

 
 

 

 

ds vUnj fLFkr ,d 

s are not angle 

lekUrj prqHkqZt esa fod.kZ dks.k lef}Hkktd ugha 

Alternate Angle) 

angle bisector of 

lekUrj prqHkqZt ds dks.kksa ds lef}Hkktd ls cuk 

prqHkqZt D;k gksxk \

 

 

 

 

 

 ∆APB ≅ ∆DSC 

AP = CS = y 

DS = BP = x  

∆ARD esa 

Let RD = u,AR = v 
So here  
 

 

 

 

 

 

 

∆CQB ≅ ∆DRA 

∠𝑄𝐵𝐶 =  ∠𝑅𝐷𝐴, ∠𝐵𝐶𝑄 =

Four angle are equal & opposite side are equal then 

it is a rectangle. 

Pkkjksa dks.k cjkcj rFkk vkeus lkeus ds Hkqtk cjkcj 

gks rks vk;r curk gSaA 

 

 

 

 

 

lekUrj prqHkqZt ds dks.kksa ds lef}Hkktd ls cuk 

\  

=  ∠𝐷𝐴𝑅,AD = BC  

Four angle are equal & opposite side are equal then 

Pkkjksa dks.k cjkcj rFkk vkeus lkeus ds Hkqtk cjkcj 

gks rks vk;r curk gSaA  

 



 
(8) In a parallelogram if we join the midpoint of 

side then which figure is made.  

lekUrj prqHkqZt dh Hkqtkvksa ds e/; fcUnwvksa dks 

feykus ij cuh vkd`fr D;k gksxh A 

 

 

 

 

 

nksuks fod.kZ ,d nwljs dks 90°ij ugha dkVrs 

So it is a parallelogram  

Rks PQRS ,d lekUrj prqHkqZt gksxk 

(9) In any parallelogram the midpoint of side A

and CD is P & Q then :- 

fdlh Hkh lekUrj prqHkqZt esa Hkqtk 

ds e/; fcUnw P,Q gS\ rks %& 

 

 

 

 

 

P,Q are midpoint of side AB, DC 

P,Q Hkqtk AB, DC ds e/; fcUnw gSaA  

So 

BR = RS = SD  

 

  

 
 

parallelogram if we join the midpoint of 

 

lekUrj prqHkqZt dh Hkqtkvksa ds e/; fcUnwvksa dks 

D;k gksxh A  

ij ugha dkVrs  

In any parallelogram the midpoint of side AB 

fdlh Hkh lekUrj prqHkqZt esa Hkqtk AC rFkk CD 

 

 

 

 

 

 

 

 

 

P & Q are midpoint  

AP||QC 

AP, QC ds lekUrj gSaA 

 

∆QRB~∆PSD 

QB = PD = ௟

ଶ
 

 ∠𝑅𝐵𝑄 =  ∠𝑃𝐷𝑆

Now- e/; fcUnw dks feykus okyh 

ges”kk e/; fcUnw ij feyrh gSaA

PQ||CB 

∆CRB~∆QRO 

∠𝐵𝐶𝑅 =  ∠𝑂𝑄𝑅 

∠𝐶𝐵𝑅 =  ∠𝑄𝑂𝑅 

∠𝑅 =  ∠𝑅vertically opposite angle 

Here QQ = ௕
ଶ
,  OM = ௔

ଶ
 

So 

BR = RS = SD 

 

(10) In parallelogram A

of  side DC then  

 

 

 

 

𝑃𝐷𝑆, ∠𝐵𝑄𝑅 =  ∠𝐷𝑃𝑆 

e/; fcUnw dks feykus okyh ykbu fod.kZ ds 

ges”kk e/; fcUnw ij feyrh gSaA 

vertically opposite angle  

In parallelogram ABCD, P is not mid point 



 
lekUrj prqHkqZt ABCD esa ;fn 

dk e/; fcUnw uk gks rksA  

 

 

 

 

 

(area of ∆APD =
1

2
×  area of

(11) In parallelogram opposite angle are equal & 

sum of adicent angle is 180°. 

lekUrj prqHkqZt esa foijhr dks.k cjkcj rFkk 

vklUu dks.kksa dk ;ksx 180°gksrk gSaA 

 

 

 

 

 

AB||DC & AD||BD

 (NOTE- nks parallel ykbZu ds chp vUr % dks.kks dk 

;ksx 180° gksrk gSaA) 

 

 

 

 

 

 

 

;fn P Hkqtk DC 

of ABCD) 

In parallelogram opposite angle are equal & 

lekUrj prqHkqZt esa foijhr dks.k cjkcj rFkk 

gksrk gSaA  

D 

ds chp vUr % dks.kks dk 

Theory No. 

SQUARE¼oxZ½→ 

In any quadrilateral four side are equal and 

each angle are 90° is called square. 

;fn dksbZ prqHkqZt esa pkjksa Hkqtk, cjkcj rFkk izR;sd 

dks.k 90° gks oxZ dgykrk gSaA 

 

 

 

 

 

AB = BC = CD = DA = 

∠𝐴 = ∠𝐵 = ∠𝐶 = 𝐷 = 90

 

Some Important Points 

(1) Length of the diagonal of a square is equal and 

both diagonal bisect each other at 

oxZ ds nksuks fod.kZ dh 

rFkk nksuks fod.kZ ,d nwljs 

 

 

 

 

 

 

 

 

 

Theory No. -11 

In any quadrilateral four side are equal and 

is called square.  

prqHkqZt esa pkjksa Hkqtk, cjkcj rFkk izR;sd 

gks oxZ dgykrk gSaA  

 a 

90° 

Some Important Points → 

Length of the diagonal of a square is equal and 

isect each other at 90°. 

oxZ ds nksuks fod.kZ dh yEckbZ cjkcj gksrh gSaA 

rFkk nksuks fod.kZ ,d nwljs 90° ij dkVrs gSaA 



 
 

𝑑ଵ = 𝑑ଶ(diagonal)and (𝑑ଵ𝑑ଶ) 

Length of AC = √2 a 

 

(2) In a square diagonals are angle bisector. 

oxZ es fod.kZ dks.k lef}Hkktd gks

 

 

 

 

 

Both diagonal are equally bisect each other. 

nksukss fod.kZ ,d nwljs dks lef}Hkkftr djrs 

 

 

 

 

 

 

Square ABCD 

AO = OC 

BO = OD 

(3) Both the diagonal equally bisect the area of 

square.  

nksuks fod.kZ oxZ ds {ks=Qy dks lef}Hkkftr 

djrs gSaA  

  

 

isector.  

oxZ es fod.kZ dks.k lef}Hkktd gksrs gSaA 

isect each other.  

,d nwljs dks lef}Hkkftr djrs gSaA 

isect the area of 

oxZ ds {ks=Qy dks lef}Hkkftr 

 

 

 

 

 

 

In Square ABCD By Side

∆ABD ≅ ∆CBD 

AB = CD (Side) 

AD = BC 

BD = BD (Common) 

 

(4) In square both diagonal equally 

of square in 4 parts. 

oxZ esa nksuks fod.kZ 

ck¡Vrs gSaA  

 

 

 

 

 

In Square ABCD By Side

∆ABD ≅ ∆CBD 

AB = CD (Side)  

AD = BC 

BD = BD (Common)

 

 

 

ide-Side-Sides  

oth diagonal equally bisect the area 

of square in 4 parts.  

fod.kZ {ks=Qy dks 4 cjkcj Hkkxksa esa 

In Square ABCD By Side-Side- Side s  

BD = BD (Common) 

 



 
 

 

(5) If “O” is a point inside the square.  

oxZ ds vUnj ,d fcUnw “O” gks rksA

 

 

 

 

 

 

Aଵ + Aଷ = Aଶ + Aସ 

∴ A = Area 

 

(6) (i) If “O” is a point inside the 

then.   

;fn oxZ ABCD ds vUnj ,d fcUnw “O” 

 

 

 

 

 

 

ABCD is a square 

 OAଶ + OCଶ = OBଶ + ODଶ 

(ii) If O is outside the square then :

;fn O oxZ ds ckgj fcUnw gks rks  

OAଶ + OCଶ = OBଶ + ODଶ 

square.   

gks rksA 

the square ABCD, 

“O” gks rksA 

If O is outside the square then :- 

 

 

(7) Figure formed by joining 

the side of a square? 

oxZ ds pkjksa Hkqtk ds e/; fcUnw dks feykus ij cuus 

okyh vkd`fr D;k gksxha A 

 

 

 

 

 

 

Both the diagonal cut each other at  

both are diagonal of square.

oxZ ds nksuks fod.kZ 90

dk ;ksx ¼ nks lekUrj yk

So PQRS is a square.  

PQRS ,d oxZ gksxk 

(8) In any square when 

CD are P,Q then. 

fdlh Hkh oxZ esa Hkqtk 

P,Q gS rks \  

 

 

 

 

 

 

 

 

y joining the mid – points of all 

the side of a square?  

oxZ ds pkjksa Hkqtk ds e/; fcUnw dks feykus ij cuus 

D;k gksxha A  

Both the diagonal cut each other at  90°. BD and AC  

square. 

90° ij dkVrs gS rFk vUr dks.kks 

ykbZu ds e/;½ 180°gksrk gSa 

when the midpoint of side AB and 

fdlh Hkh oxZ esa Hkqtk AB rFkk CD ds e/; fcUnw 

 
   



 
P,Q are midpoint of AB and DC 

 DE = EF = FB 

 

(9) In square ABCD if P is not the mid point of side 

DC then 

oxZ ABCD esa ;fn P, Hkqtk DC dk e/; 

gks rks A  

Area of square = 𝑎ଶ 

Area of ∆𝐴𝑃𝐵 =  
ଵ

ଶ
𝑎ଶ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(10) If both diagonals midpoints are P,Q,R,S

Ratio of Area of Shaded and unshaded part. 

;fn nksuks fod.kZ ds e/; fcUnw gS rks Nk;kfdr 

Hkkx dk {ks=Qy % v/ar;fdr dk {ks=Qy A 

mid point of side 

dk e/; fcUnw uk 

midpoints are P,Q,R,S then, 

unshaded part.  

;fn nksuks fod.kZ ds e/; fcUnw gS rks Nk;kfdr 

Hkkx dk {ks=Qy % v/ar;fdr dk {ks=Qy A  

 

 

 

 

 

 

 

 

 

 

 

f=Hkqt dh nks Hkqtkvks ds e/; fcUnw dks feykus okyh 

js[kk rhljh ls vk/kh o mlds lekUrj gksxhA 

Side ratio = 1 : 2 

Area Ration = 1 : 4 

∆𝑂𝑃𝑄 𝑎𝑟𝑒𝑎 ∶ 𝑃𝑄𝐵𝐴 𝑎𝑟𝑒𝑎

Area of shaded part : Area of unshaded part 

4   : 

1   

Theory No. -12 

 Each angle of rhombus

,slk prqHkqZt ftudh pkjksa Hkqtk,sa cjkcj gks rFkk 

foijhr Hkqtk;sa lekarj gks] leprqHkqZt dgykrk gSaA 

bldk izR;sd dks.k ledks.k ugha gksrk gSaA 

 

 

 

 

f=Hkqt dh nks Hkqtkvks ds e/; fcUnw dks feykus okyh 

js[kk rhljh ls vk/kh o mlds lekUrj gksxhA  

𝑎𝑟𝑒𝑎 = 1 ∶ 3 

Area of shaded part : Area of unshaded part  

:  12 

:  3 

of rhombus is not a right angle.  
,slk prqHkqZt ftudh pkjksa Hkqtk,sa cjkcj gks rFkk 

foijhr Hkqtk;sa lekarj gks] leprqHkqZt dgykrk gSaA 

izR;sd dks.k ledks.k ugha gksrk gSaA  

 



 
AB = BC = CD = DA 

AB ||DC  rFkk AD ||BC  

 

Some Important Points → 

(1) In Rhombus diagonal are angle b

leprqHkqZt esa fod.kZ dks.k lef}Hkktd gksrs gSa

 

 

 

 

 

Rhombus ¼leprqHkqZt½ ABCD esa 

∆ABD ≅ ∆CBD 

AB = BC  

AD = DC  

BD = BD (Common) 

So diagonal are angle bisector. 

(2) Both the diagonal of a rhombus intersect each 

other at right angle but diagonal are 

each other.  

leprqHkqZt ds nksuks fod.kZ ,d nwljs dks le

ij dkVrs gS ijUrq ,d nwljs ds cjkcj ugha 

gSaA 

 

 

 

 

 

isector.  

leprqHkqZt esa fod.kZ dks.k lef}Hkktd gksrs gSaA 

us intersect each 

diagonal are not equal to 

,d nwljs dks ledks.k 

ij dkVrs gS ijUrq ,d nwljs ds cjkcj ugha gksrs 

dଵ, dଶ = diagonal 

(i). dଵ dଶ 
(ii). dଵ ≠ dଶ 

 
(3) In Rhombus diagonal divide the area into two 

equal parts.  

leprqHkqZt dk fod.kZ 

djrk gSaA 

 

 

 

 

 

∆ABD ≅ ∆CBD 

AB = DC  

AD = BC 

BD = (Common) 

So Side-Side-Side ls congruent 

,d ckj nks Triangle lokZxle gks x;s rks mlds 
ckn mudk lc dqN cjkcj gksrk gSaA 

(4) In Rhombus both diagonal are equally 

each other.  

leprqHkqZt ds nksuks fod.kZ ,d nwljs dks 

lef}Hkkftr djrs gSaA 

 

 

 

 

 

 

 

us diagonal divide the area into two 

fod.kZ {ks=Qy dks lef}Hkktd 

congruent  

lokZxle gks x;s rks mlds 
ckn mudk lc dqN cjkcj gksrk gSaA  

oth diagonal are equally bisect 

ds nksuks fod.kZ ,d nwljs dks 

lef}Hkkftr djrs gSaA  

 

 



 
 

AO = OC  

BO = OD 

 

(5) In Rhombus both diagonal equally 

area in FOUR equal parts.  

leprqHkqZt esa nksuks fod.kZ blds {ks=Qy dks 4 

cjkcj Hkkxksa esa foHkkftr djrk gSaA 

 

 

 

 

 

Both diagonal equally bisect each other. 

O is mid point of AC  So that DO is median

blh izdkj ∆ABC esa 

∆AOB =  ∆COB =  
1

4
 

∆AOD dk {ks=Qy = ∆AOB dk {ks=Qy 

{ks=Qy = ∆COB dk {ks=Qy =  
ଵ

ସ
  AB

(6) If “O” is a point in rhombus then.

;fn leprqHkqZt ds vUnj dksbZ fcUnw “O” 

 

 

 

 

 

 

oth diagonal equally bisect the 

{ks=Qy dks 4 

cjkcj Hkkxksa esa foHkkftr djrk gSaA  

isect each other.  

DO is median.  

{ks=Qy = ∆COD dk 

BCD dk {ks=Qy 

us then. 

“O” gks rksA 

Aଵ + Aଷ = Aଶ + Aସ 

 

(7) In a Rhombus, if P is not mid point of side DC 

then  

leprqHkqZt ABCD 

fcUnw uk gks rks A  

 

 

 

 

 

Area of Rhombus ABCD = 

Area of ∆APB =
ଵ

ଶ
× 𝑏𝑎𝑠𝑒

So Area of ∆APB =
஺ఈ௘௔

 

(8) Figure for med by joining mid

of a Rhombus.  

leprqHkqZt dh Hkqtkvks ds e/; fcUnw dks feykus 

ij cuh vkd`fr D;k gksxh 

 

 

 

 

 

 

 
 

 

 

 

P is not mid point of side DC 

ABCD esa ;fn P, Hkqtk DC dk e/; 

 

CD = B𝑎𝑠𝑒 × height 

𝑏𝑎𝑠𝑒 × ℎ𝑒𝑖𝑔ℎ𝑡 

஺ఈ௘௔ ௢௙ ஺஻஼஽

ଶ
 

y joining mid-points of all side 

leprqHkqZt dh Hkqtkvks ds e/; fcUnw dks feykus 

D;k gksxh \ 

 

 

  

 

 



 
nksuks diagonal ,d nwljs dks 90

rFkk nks Parallel ykbZu ds chp vUr % dks.kksa dk 

;ksx180° gksrk gS 

pkjks dks.k 90° rFkk foijhr Hkqtk cjkcj o 
lekUrj rks vk;r (Rectangle) gksxk A 

 

(9) If P and Q are mid point of DC and 

Rhombus ABCD :-  

;fn leprqHkqZt ABCD esa Hkqtk 

e/; fcUnw P,Q  gks rks  

 

 

 

 

 

 

So 

BR = RS = SD 

 

(10) If diagonal mid points are P,Q,R,S then ratio 

of area of shaded part & unshaded part area.  

;fn P,Q,R,S nksuks fod.kZ ds e/; fcUnw gS rks 

Nk;kfdr Hkkx dk {ks=Qy rFkk v/kka;kfdr Hkkx 

ds {ks=Qy dk vuqikr Kkr djksA 

 

 

 
 

 

90° ij dkVrs gSA 

Zu ds chp vUr % dks.kksa dk 

rFkk foijhr Hkqtk cjkcj o 
gksxk A  

If P and Q are mid point of DC and AB in 

esa Hkqtk DC rFkk AB dk 

mid points are P,Q,R,S then ratio 

of area of shaded part & unshaded part area.   

nksuks fod.kZ ds e/; fcUnw gS rks 

Nk;kfdr Hkkx dk {ks=Qy rFkk v/kka;kfdr Hkkx 

ds {ks=Qy dk vuqikr Kkr djksA  

  Area of Shaded Part : unshaded part

                     1                      

 

(11) In Rhombus opposite angle are equal & 

adjacent angles sum is 

leprqHkqZt esa foijhr dks.k cjkcj rFkk vklU

dks.kksa dk ;ksx 180°

 

 

 

 

 

 ∠𝐴 = ∠𝐶
∠𝐵 = ∠𝐷

ቃ foijhr dks.k

 

∠𝐴 + ∠𝐵 = 180°
∠𝐵 + ∠𝐶 = 180°
∠𝐶 + ∠𝐷 = 180°
∠𝐷 + ∠𝐴 = 180°

൪vklUu dks.k

 

Theory No. 

Trapezium ¼lEyEc prqHkqZt

(i) In any quadrilateral two side are parallel then it is 

called trapezium.  

,slk dksbZ prqHkqZt ftldh nks Hkqtk lekUrj gks rks 

lEyEc prqHkqZt dgykrk gSaA 

;gk¡ AB||DC 

 

 

 

 

Area of Shaded Part : unshaded part 

∶             3 

us opposite angle are equal & 

sum is 180°. 

esa foijhr dks.k cjkcj rFkk vklUu 

° gksrk gSaA  

foijhr dks.k  (Opposite angle) 

vklUu dks.k (adjacent angle) 

Theory No. -13 

yEc prqHkqZt½→  

In any quadrilateral two side are parallel then it is 

prqHkqZt ftldh nks Hkqtk lekUrj gks rks 

lEyEc prqHkqZt dgykrk gSaA  

 

 



 
(ii);fn nks Hkqtk cjkcj rFkk ckdh nks Hkqtk lekUrj 

gks rks lef}ckgq lEyEc prqHkqZt gksrk gSaA 

If two side of a  quadrilateral is parallel & remaining 

two side are equal then it is Isosceles Trapezium.

 

 

 

 

 

AB||DC & AD = BC 

 

Some Important Points → 

(1) (i)Both the diagonal of a trapezium

other in equal ratio.  

leyEc prqHkqZt ds nksuksa fod.kZ ,d & nwljs dks 

lekuqikr esa ck¡Vrs gSaA  

( DO : OB = AO : OC ) 

 

 

(𝑖𝑖) ∆AOD Area = ∆BOC Area.  

∆AOD dk {ks=Qy = ∆BOC dk {ks=Qy 

(𝑖𝑖𝑖) ∆AOB Area × ∆COD Area = ∆AOD Area 

 

 

 

 

 

 

 

 
 

;fn nks Hkqtk cjkcj rFkk ckdh nks Hkqtk lekUrj 

gks rks lef}ckgq lEyEc prqHkqZt gksrk gSaA  

If two side of a  quadrilateral is parallel & remaining 

then it is Isosceles Trapezium. 

oth the diagonal of a trapezium bisects each 

yEc prqHkqZt ds nksuksa fod.kZ ,d & nwljs dks 

dk {ks=Qy  

AOD Area × ∆BOC Area.  

Aଵ × Aଷ = Aଶ ×  Aସ 

∴ Aଶ =  Aସ 

Aଵ × Aଷ = (Aଶ)ଶ 

 

(2) Line formed by joining mid

sides of a trapezium is half of the sum of its 

parallel sides.  

leyEc prqHkqZt esa vlekUrj Hkqtkvksa ds e/; 

fcUnw dks feykus ij cuh js[kk lekUrj Hkqtkvksa ds 

;ksx dh vk/kh gksrh gSaA

EF = ଵ
ଶ

(AB + CD)  

 

(3) Any line drawn parallel to parallel sides of a 

trapezium bisects it unparallel sides in same 

ratio.  

leyEc prqHkqZt dh lekUrj Hkqtkvksa ds lekUrj 

[khph xbZ dksbZ Hkh js[kk vlekUrj Hkqtkvksa dks 

leku vuqikr esa dkVrh gSaA 

In Trapezium ABCD

AB||CD and AB||EF

then 

      ୈ୉

୅୆
=  

େ୊

୊୆
 

 

(4) ABCD is a trapeziumin 

E,F are the mid point of diagonal AC , 

respectively then :- 

 

 

y joining mid-points of unparallel 

sides of a trapezium is half of the sum of its 

esa vlekUrj Hkqtkvksa ds e/; 

fcUnw dks feykus ij cuh js[kk lekUrj Hkqtkvksa ds 

;ksx dh vk/kh gksrh gSaA  

)

Any line drawn parallel to parallel sides of a 

isects it unparallel sides in same 

leyEc prqHkqZt dh lekUrj Hkqtkvksa ds lekUrj 

Z Hkh js[kk vlekUrj Hkqtkvksa dks 

leku vuqikr esa dkVrh gSaA  

ABCD 

||EF|| DC  

CD is a trapeziumin in which AB || CD . If 

E,F are the mid point of diagonal AC , BD 

 

 

  

  

  



 
ABCD ,dleyEc prqHkqZt gSa ftlesa 

;fn E rFkk F de”k fod.kZ AC , 

fcUnw gS rks  

 

 

 

 

 

 

Theory No. -14 

 

Polygon ¼cgqHkqt½→  

A polygon is a two-dimensional geometric figure 

that has a finite number of sides. The sides of a

polygon are made of straight

segments connected to each other end to 

end.Triangle, square, pentagons, hexagon are all 

example of polygon.   

,d cgqHkqt dksbZ Hkh f}foeh; vkd`fr gSaA tks lh/kh 

js[kkvksa ds lkFk cukbZ x;h gSaA f=dks.k] prqHkqZt] 

iapdks.k vkSj cgqHkqt lHkh cgqHkqt ds mnkgj.k gSaA 

N = no. of side 

Sum of interior angle ¼vUr % dks.kksa dk ;ksx½
(𝑛 − 2) × 180° 

 

An angle of the regular polygon  

 

,dleyEc prqHkqZt gSa ftlesa AB || CD gS 

AC , BD ds e/; 

dimensional geometric figure 

that has a finite number of sides. The sides of a 

are made of straight line 

connected to each other end to 

, square, pentagons, hexagon are all 

`fr gSaA tks lh/kh 

Z x;h gSaA f=dks.k] prqHkqZt] 

iapdks.k vkSj cgqHkqt lHkh cgqHkqt ds mnkgj.k gSaA  

% dks.kksa dk ;ksx½ = 

¼lecgqHkqt dk ,d vUr % dks.k½

Sum of exterior angle  

¼ckzg;% dks.kksa dk ;ksx½ = 

 

An exterior angle of regular polygon 

¼lecgqHkqt dk ,d ckzg; % dks.k½  

 

All Interior angle + All 

¼vUr % dks.k + ckà; dks.k½ 

 

  One Interior angle + One Exterior angle

¼,d vUr % + dks.k ckà; dks.k½

 

NOTE-In regular polygon all side & angles are 
equal.  

¼lecgqHkqt esa lHkh Hkqtk;sa rFkk dks.k cjkcj

 No. of diagonals  

¼fod.kksZ dh la[;k½ = 𝑛஼

→If there is n side in a polygon. Then the angle 

created by a side on centre will 

created on circumference is 

 

 

¼lecgqHkqt dk ,d vUr % dks.k½ = (௡ିଶ)×ଵ଼଴°

௡
 

 

= 360° 

An exterior angle of regular polygon  

¼lecgqHkqt dk ,d ckzg; % dks.k½  = ଷ଺଴°

௡
 

All Exterior angle  

ckà; dks.k½  = 180 × 𝑛 

One Interior angle + One Exterior angle  

dks.k ckà; dks.k½ = 180° 

In regular polygon all side & angles are 

lecgqHkqt esa lHkh Hkqtk;sa rFkk dks.k cjkcj gksrs gSaA½ 

஼ଶ
− 𝑛 =

௡(௡ିଷ)

ଶ
 

If there is n side in a polygon. Then the angle 

y a side on centre will be ଷ଺଴°

௡
 and angle 

created on circumference is ଵ଼଴°

௡
 



 
;fn fdlh cgqHkqt esa n Hkqtk gSaaA rks ,d Hkqtk }kjk 
dsUnz ij cuk dks.k ଷ଺଴°

௡
 gksxk rFkk ifjf/k ij cuk 

dks.k ଵ଼଴°

௡
 gksxkA  

 

 

 

 

 

 

 

 

 

 

 

Theory No. -15 

 

Circle ¼o`r½→  A circle is a round-shaped figure that 

has no corners or edges.  

वृȅ एक गोलाकार आकृित है िजसका कोई

नही ंहोता है।  

Arc ¼pki½→  A small part of circumference of a 

circle is known as arc. 

o`r dh ifjf/k ds NksVs Hkkx dks 

pki dgrs gSaA  

  

Hkqtk gSaaA rks ,d Hkqtk }kjk 
gksxk rFkk ifjf/k ij cuk 

shaped figure that 

कोई कोना या िकनारा 

A small part of circumference of a 

circle is known as arc.  
`r dh ifjf/k ds NksVs Hkkx dks 

→ Angle formed by an arc at 

angle formed on the circumference of the circle. 

fdlh Hkh pki }kjk dsUnz ij cuk dks.k ifjf/k ij cus 

dks.k ls nks xq.kk gksrk gSaA 

 

 

 

 

 

→ Angles formed by an arc on the remaining 

circumference are equal

,d gh pki }kjk ifjf/k ij cus dks.k cjkcj gksrs gSaA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

y an arc at the center is double the 

angle formed on the circumference of the circle.  

fdlh Hkh pki }kjk dsUnz ij cuk dks.k ifjf/k ij cus 

dks.k ls nks xq.kk gksrk gSaA  

y an arc on the remaining 

circumference are equal 

,d gh pki }kjk ifjf/k ij cus dks.k cjkcj gksrs gSaA  



 

→ Angles formed by diameter on the 

circumference is right angle.  

O;kl }kjk ifj/kh ij cuk dks.k ledks.k gksrk gSA 

    

∠𝐴𝐶𝐵 = 90° 

 

→ Area of biggest right angle triangle is equal 

to the square of radius:-  

lcls cM+s ledks.k f=Hkqt dk {ks=Qy 

ds oxZ ds cjkcj gksrk gSaA  

∆𝑨𝑩𝑪 dk {ks=Qy =
ଵ

ଶ
× 𝐵𝐶 × 𝑂𝐴

 

=
1

2
× 2𝛼 × 𝛼 

= 𝛼ଶ 

 

Theory No. -17

 

Chord¼thok½→ 

Line segment joing any two points on the 

circumsference of the circle, is known as chord.  

y diameter on the 

O;kl }kjk ifj/kh ij cuk dks.k ledks.k gksrk gSA  

iggest right angle triangle is equal 

lcls cM+s ledks.k f=Hkqt dk {ks=Qy o`r dh f=T;k 

𝑂𝐴 

17 

Line segment joing any two points on the 

circumsference of the circle, is known as chord.   

or̀ dh ifjf/k ij fLFkr 

feykus okyk js[kk[k.M thok dgykrk gSaA 

 

The Line which join the center of a circle to mid  

point of chrod is altitude on chord.

thok ds e/; fcUnw ls dsUnz dks feykus okyh 

thok ij yEc gksrh gSaA 

 

AB = Chord ¼thok½ 

AP = PB 

 

→ Equal chords are equidistant from the centre. 

Lkeku thok,¡ dsUnz ls leku nwjh ij gksrh gS

thok,¡ dsUnz ls leku n

dh gksxh A 

 

If AB = CD  

Then OX =OY 

 

→ Equal chords forms equal angle on the centre or 

vice versa.  
Lkeku thok,¡ dsUnz ij leku dks.k cukrh gSaA ;k nks 

thok,a dsUnz ij leku dks.k cukrh gSaA rks leku 

yEckbZ dh gksxh A   

AB = CD  

∠𝐴𝑂𝐵 =  ∠𝐶𝑂𝐷 

 

 

dh ifjf/k ij fLFkr fdUgha Hkh nks fcUnqvksa dks 

feykus okyk js[kk[k.M thok dgykrk gSaA  

The Line which join the center of a circle to mid  

d is altitude on chord. 

thok ds e/; fcUnw ls dsUnz dks feykus okyh ykbZu 

thok ij yEc gksrh gSaA  

Equal chords are equidistant from the centre.  
eku thok,¡ dsUnz ls leku nwjh ij gksrh gSaA ;k nks 

thok,¡ dsUnz ls leku nwjh ij gS rks leku yEckbZ 

Equal chords forms equal angle on the centre or 

Lkeku thok,¡ dsUnz ij leku dks.k cukrh gSaA ;k nks 

thok,a dsUnz ij leku dks.k cukrh gSaA rks leku 



 
→ If two same chords of a circle AB = AC then the 

line joining point A with the center will 

bisector of  ∠𝐴. 
;fn nks thok,¡ AB = AC gks rks A dks dsUnz ls feykus 

okyh js[kk ∠𝐴 dks dks.k lef}Hkktd gksxh A 

AB = AC  

 

 

 

 

 

 

→ If two chords bisects inside a circle then the

be equal to.  
nks thok,¡ ;fn or̀ ds vUnj P ij izfrPNsn

PA × PB = PC × PD 

 

 

→ If two chords intersect outside the circle, then the 

area of rectangle formed by these chords will 

equal.  
;fn nks thok;s o`r ds ckgj izfrPNsn djsa rks muds 

}kjk cus vk;r dk {ks=Qy cjkcj gksrk gS A 

CD =  thok,¡  

= AC then the 

line joining point A with the center will be the angle 

dks dsUnz ls feykus 

dks dks.k lef}Hkktd gksxh A  

isects inside a circle then they will 

ij izfrPNsn djsa rksA  

 

If two chords intersect outside the circle, then the 

y these chords will be 

ds ckgj izfrPNsn djsa rks muds 

}kjk cus vk;r dk {ks=Qy cjkcj gksrk gS A AB, 

 

PA × PB

 

→ If a tangent and a secant is drawn from a point 

outside the circle, then. 

;fn f=Hkqt ds ckgj fLFkr fcUnw ls ,d Li”kZ js[kk 

vkSj ,d Nsnd js[kk f[kaph tk;s rc A 

PTଶ

 

 

 

 

 

→ If chords of circle AB

the circle then angle at point P. 

;fn o`r dh thok,¡ AB

izfrPNsn djsa rks fcUnw P

 ∠𝐴𝑃𝐶 =  ∠𝐵𝑃𝐷

 

 

→ If two chords AB and CD on extending meet at 

point P according to figure then angle. 

or̀ dh nks thok,¡ AB

ckgj izfrPNsn djsa rks dks.k 

 

PB = PC × PD 

If a tangent and a secant is drawn from a point 

outside the circle, then.  
;fn f=Hkqt ds ckgj fLFkr fcUnw ls ,d Li”kZ js[kk 

vkSj ,d Nsnd js[kk f[kaph tk;s rc A  

= PA × PB 

B and CD cut at point P inside 

the circle then angle at point P.  
B o CD òr ds vUnj P ij 

P ij cuk dks.k %& 

=  
ଵ

ଶ
 (∠𝑃𝐴𝐷 +  ∠𝑃𝐷𝐴) 

and CD on extending meet at 

point P according to figure then angle.  
B rFkk CD bl izdkj òr ds 

rks dks.k ∠𝐴𝑃𝐶 =  ∠𝐵𝑃𝐷 =? 



 
(Let O is the center of the circle) 

 

 

 

 

 

∠𝐴𝑃𝐶 =  ∠𝐵𝑃𝐷 =  
1

2
(∠𝐴𝑂𝐶 −

 

Theory No. -17

 

→ A Straight line that touches curved surface at a 

point is called tangent.  
dksbZ Hkh ,alh js[kk tks òr dks ,d fcUnw ij Li”kZ djsa 

Li”kZ js[kk dgykrh gSaA  

 

 

 Tangent ¼Li”kZ js[kk½ 

 

→ The angle between radius & tangent is a right 

angle.  
f=T;k o Li”kZ js[kk ds chp cuk dks.k ledks.k gksrk 

gSaA  

 

 

 

→ The number of tangent from the outside point 

from a circle is two. Length of both the tangent is 

equal.  

 

−  ∠𝐵𝑂𝐷) 

17 

A Straight line that touches curved surface at a 

dks ,d fcUnw ij Li”kZ djsa 

etween radius & tangent is a right 

f=T;k o Li”kZ js[kk ds chp cuk dks.k ledks.k gksrk 

er of tangent from the outside point 

oth the tangent is 

or̀ ds ckgj fdlh fcUnw ls 2 Li”kZ js[kk [khpha tk 

ldrh gSaA rFkk nksuks dh 

 

PA=PB Tengents  

 

 

→ Angle formed blow tangent and chord is equal to 

the angle formed on alteranate segment. 

thok rFkk Li”kZ js[kk ds e/; cuk dks.k thok }kjk 

,dkUrj [k.M esa cus dks.k ds cjkcj gksrk gSaA  

 

 

 

 

 

 

 

→ If all the four verticles of a quadrilateral are on the 

circumference of a circle, then it will 

cyclic quadrilateral & sum of opposite angles of a 

cyclic quadrilateral is 180

fdlh prqHkqZt ds pkjksa “kh"kZ 

pdzh; prqHkqZt dgrs gSaA vkSj pdhz; prqHkqZt ds 

foijhr dks.kksa dk ;ksx 180

∠𝐴 + ∠𝐶 = 180° 

∠𝐵 + ∠𝐷 = 180° 

 

 

 

 

 

ds ckgj fdlh fcUnw ls 2 Li”kZ js[kk [khpha tk 

ldrh gSaA rFkk nksuks dh yEckbZ leku gksrh gSaA  

low tangent and chord is equal to 

the angle formed on alteranate segment.  
thok rFkk Li”kZ js[kk ds e/; cuk dks.k thok }kjk 

,dkUrj [k.M esa cus dks.k ds cjkcj gksrk gSaA   

If all the four verticles of a quadrilateral are on the 

circumference of a circle, then it will be known as 

cyclic quadrilateral & sum of opposite angles of a 

s 180°. 
fdlh prqHkqZt ds pkjksa “kh"kZ òr dh ifjf/k ij gS rks 

pdzh; prqHkqZt dgrs gSaA vkSj pdhz; prqHkqZt ds 

foijhr dks.kksa dk ;ksx 180° gksrk gSaA  

 

 



 
 

→ In cyclic quadrilateral PQRS, PR × 

Pkfdz; prqHkqZt esa PQRS, esa fod.kZ PR

cjkcj gksxk A 

 

 

PR × SQ = PQ ×SR + RQ

 

 

→ If circumference of a circle touch all the four sides 

of a quadrilateral or if four tangents are drawn on a 

circle such that they form a quadrilateral, then.

;fn fdlh òr dh ifjf/k prqHkqZt dh pkjksa Hkqtkvksa 

dks Li”kZ djs ;k fdlh or̀ ij pkj Li”kZ js[kk,

izdkj [khaph tk;s dh oks prqHkZt cuk;sa

∠𝑥 + ∠𝑦 = 180° 

AB + CD = AC + BD 

 

(i). Theory No. -18 

Some Important Points → 

(1) Two circle of equal or unequal radius touch each 

other externally. Then the length of common 

tangent (PQ) 
nks leku rFkk vleku f=T;k okys o`r

ckzgk :i ls Li”kZ djsa rks mudh mHk;fu"

dh yEckbZ A 

If touch each other →  

  

 

× SQ is equal to :- 
PR × SQ fdlds 

SR + RQ × SP 

If circumference of a circle touch all the four sides 

of a quadrilateral or if four tangents are drawn on a 

circle such that they form a quadrilateral, then. 

dh ifjf/k prqHkqZt dh pkjksa Hkqtkvksa 

ij pkj Li”kZ js[kk,sa bl 

izdkj [khaph tk;s dh oks prqHkZt cuk;sa rks %&            

radius touch each 

other externally. Then the length of common 

o`r ,d nwljs dks 

mHk;fu"B Li”kZ js[kk 

𝑟ଵ , 𝑟ଶ ¼ f=T;k ½  

Oଵ , Oଶ¼ dsUnz ½ 

Length of PQ = ට൫दोनᲂ 

= ඥ𝐷ଶ − (𝑟ଵ − 𝑟ଶ)ଶ 

∴ (D = rଵ + rଶ) 

PQ = ඥ(𝑟ଵ + 𝑟ଶ)ଶ − (𝑟ଵ −

PQ = 2√𝑟ଵ. 𝑟ଶ 

 

(2) Two circle of equal or unequal radius 

touch each other then the length of common 

tangent & transverse tangent. 

nks leku rFkk vleku f=T;k okys 

dks Li”kZ uk djsa rks flf/k 

yEckbZ A 

 O, O1
 is center of circle

 

 

 

 

 

Common tangent  

¼flf/k mHk;fu"B Li”kZ js[kk½

ඥ(𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛

 

 

 

൫  कᱶ ᮤᲂ के म᭟य दरूी൯
ଶ

− (𝑟ଵ − 𝑟ଶ)ଶ 

( − 𝑟ଶ)ଶ 

Two circle of equal or unequal radius don’t 

touch each other then the length of common 

tangent & transverse tangent.  
nks leku rFkk vleku f=T;k okys òr ,d & nwljs 

dks Li”kZ uk djsa rks flf/k mHk;fu"B Li”kZ js[kk dh 

center of circles. 

Li”kZ js[kk½→ 

𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑐𝑒𝑛𝑡𝑒𝑟)ଶ − (𝑟ଵ − 𝑟ଶ)ଶ 

  
   



 
 (3) (a) Two circle of equal or unequal radius don’t 

touch each other then the length of common 

transverse tangent.  

nks leku rFkk vleku f=T;k okys 

nwljs dks Li”kZ uk djsa rks flf/k izfrPNsnh 

mHk;fu"B Li”kZ js[kk dh yEckbZ A

 

 

 

 

Transverse common tangent  

¼izfrPNsnh mHk;fu"B Li”kZ js[kk½→ 

AB = CD =ඥ(𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑐𝑒𝑛𝑡𝑒𝑟

 

(b) Two Circle don’t touch each other 

and O, Oଵis centres of circles and d is the 

distance between the centers. A transverse 

common tangent touch circle at A 

𝐴, 𝐵 at P. 

nks o`r vizfrPNsnh gSaA vkSj O, OଵdsUnzksa ds chp dh 

nwjh gSaA ,d frjNh mHk;fu"B Li”kZ js[kk 

rFkk  B ij Li”kZ djrh gSaA vkSj O

dkVrh gSaA   

୓௉

O1௉
=

O஺

O1஻
 ¼vUr vuqikr½ 

 

(a) Two circle of equal or unequal radius don’t 

touch each other then the length of common 

nks leku rFkk vleku f=T;k okys or̀ ,d & 

nwljs dks Li”kZ uk djsa rks flf/k izfrPNsnh 

A 

𝑐𝑒𝑛𝑡𝑒𝑟)ଶ − (𝑟ଵ + 𝑟ଶ)ଶ 

) Two Circle don’t touch each other 

of circles and d is the 

. A transverse 

A and B and cut 

dsUnzksa ds chp dh 

Li”kZ js[kk o`r dks  A 

O, Oଵ dks P ij 

 

 

 

 

(c) Two non touching circles has centre 

Oଵ. A direct common tangent touch circle at 

& B and meet O, Oଵ

nks o`r vizfrPNsnh gSaA vkSj 
gSaA ,d lh/kh mHk;fu"B
𝑩 ij dkVrh gSA vkSj 𝐎

ij dkVrh gSaA   
 

𝐎௉

𝐎𝟏
௉

=
𝐎஺

𝐎𝟏
஻

 ¼ckâ; foHkktu½

 

(4)(a) Two circle touch externally and their radius 

are a and b. A third circle of radius c 

circles then.  
nks o`r ckâk Li”kZ djrs gSaA ftudh f=T;k,a dze”k 

vkSj b gS ;fn ml òr

or̀ksa dks Li”kZ djrh gSaA  
ଵ

√௖
=

ଵ

√௔
+

ଵ

√௕
 

 

 

 

 

 

) Two non touching circles has centre O and 

ct common tangent touch circle at A 

ଵ at P. 

`r vizfrPNsnh gSaA vkSj 𝐎 vkSj 𝐎𝟏 muds dsUnz 
B Li”kZ js[kk òrksa dks 𝑨 vkSj 
𝐎, 𝐎𝟏 dks vkxs बढ़ाने 𝑷 ij 

¼ckâ; foHkktu½ 

) Two circle touch externally and their radius 

. A third circle of radius c touch both the 

ckâk Li”kZ djrs gSaA ftudh f=T;k,a dze”k a 

`r dh f=T;k c gS tks bu nksuksa 

ksa dks Li”kZ djrh gSaA   

  



 
 

(b) If three circle touch each other their radius are

 𝑟ଵ, 𝑟ଶ, 𝑟ଷ then. Find 𝑟ଶ = ? 
;fn rhu o`r ,d nwljs dks Li”kZ 

ftudh f=T;k, 𝑟ଵ, 𝑟ଶ, 𝑟ଷ, gSaA rks 𝑟ଶKkr djks 

𝑟ଶ

 

 

(5) (a) Find the radius of inner circle 

 

𝑟 =
𝑅

 

 

 

(b) n = no. of semicircle drawn on radius of large 

circle 

𝐹𝑜𝑟𝑚𝑢𝑙𝑎 =
௡ோ

ଶ௡ାଵ
 ,Let n = 2 

Put value of n in the given formula.
ଶ×ோ

ଶ×ଶାଵ
 = ଶோ

ହ
 

 

 

(c) To find the length of PQଶ = XYଶ −

 

 

 

 

 

touch each other their radius are 

,d nwljs dks Li”kZ djrs gSaA rFkk 

Kkr djks \  

ଶ = ඥ𝑟ଵ. 𝑟ଷ 

(a) Find the radius of inner circle (𝑟 = ? ) 

𝑅

6
=

𝐴𝐵

6
 

n = no. of semicircle drawn on radius of large 

Put value of n in the given formula. 

ABଶ 

 

 

 

 

  

 

 

 


